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Question Number : 1 Question Id : 7532295868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-cluster from among the given options that can replace the question mark (?) in the following series.

LGBG, RBFD, XWJA, DRNX, ?
Options :

1. ®* IRNU

2. % JNVX

3. ¥ JMRU

4. % DTUR

Question Number : 1 Question Id : 7532295868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f&T 7Y fadenl & ¥ 39 3HeR-T HI g ot Fafafad e & uyars g (7) ST d 9ol g

LGBG, RBFD, XWJA, DRNX, ?
Options :

1. % IRNU

2. % INVX

3. ¥ JMRU

4. % DTUR

Question Number : 2 Question Id : 7532295869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the term that does NOT belong to the following series.

MAIL, REDH, WIYD, BMSA, GQOV, LUJR
Options :

1. % WIYD

2. ¥ BMSA

3. % GQOV

4. % LUJR

Question Number : 2 Question Id : 7532295869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 UG & UG & off Fafoiad @ & et T8t 8|

MAIL, REDH, WIYD, BMSA, GQOV, LUJR
Options :

1. ¥ WIYD

2. ¥ BMSA

3. ¥ GQOV



4. % LUJR

Question Number : 3 Question Id : 7532295870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.
Options :

1. # Stringent

2. ¥ Indulgent

3. % Rigorous

4. % Tenacious

Question Number : 3 Question Id : 7532295870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR a5 faT TN &, FoH O <ff fopeft 71 ot &0 1 Uap S & 3TR U 31eT & | 39 Reg BT I Bx ol ST g |
Options :

1. % BOR (Stringent)

2. ¥ DU (Indulgent)

3. % ®fda (Rigorous)

4. # €¢ (Tenacious)

Question Number : 4 Question Id : 7532295871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

KALE : PZOZ :: COLD : ?
Options :

1. # XOLI

2. ¥ HLOY

3. % XLOI



4. *= HOLY

Question Number : 4 Question Id : 7532295871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 o S FRR U ¥ I UHR Yefid g, S gER1 US Ugd Ue 9 efid 3|

KALE : PZOZ :: COLD : ?
Options :

1. % XOLI

2. ¥ HLOY

3. % XLOI

4. # HOLY

Question Number : 5 Question Id : 7532295872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Entomology : Zoology :: Metaphysics : ?
Options :

1. * Physics

2. * Mathematics

3. % Psychology

4. ¥ Philosophy

Question Number : 5 Question Id : 7532295872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faed &1 79 B S FRR Ueg, F I THR Taiferd 7, SR GIRT Weg Ugd et J Falfd |

HIcidy™ ; Sitg a7 - TaHHET ;2
Options :




1. % ifqw fagme
2. % TIforg

3. % TAIfAH
4.v 3=

Question Number : 6 Question Id : 7532295873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘CLEAR’ is written as ‘CAGJT’. How will ‘BRIGHT’ be written in that language?
Options :

1. #* DPKEJR

2. % DEJGTR

3. # ZIGKPV

4. % ZGIPKV

Question Number : 6 Question Id : 7532295873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAf¥d Fe U &, 'CLEAR' &1 'CAGIT' foraT S1Ta 8 | 39 ST H 'BRIGHT' o forar Simaem?
Options :

1. ¥ DPKEJR

2. ¥ DEJGTR

3. ® ZIGKPV

4. ¥ ZGIPKV

Question Number : 7 Question Id : 7532295874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘GLOBAL’ is coded as ‘1410134210°.How will ‘FASHION’ be coded in that language?
Options :

1. #® 1221716181132



2. % 1221176183112
3. % 1172216181312
4.+ 1221716181312

Question Number : 7 Question Id : 7532295874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS (YA Fe U & 'GLOBAL' @1 '1410134210' & &0 H foRal ST € | 39 HTST H 'FASHION' H1 i feram Sram?
Options :

1. % 1221716181132

2. % 1221176183112

3. % 1172216181312

4. 1221716181312

Question Number : 8 Question Id : 7532295875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(1) In a family of six persons, Manu, Nayan, Ojaswini, Pallavi, Kishore and Rishita, there are two married couples.
(i1) Pallavi is the grandmother of Manu and the mother of Nayan.

(i11) Ojaswini is the wife of Nayan and the mother of Rishita.

(iv) Rishita is the granddaughter of Kishore .

Which of the following is one of the couples?
Options :

1. # Rishita and Kishore

2. % Pallavi and Kishore

3. # Pallavi and Nayan

4. % Manu and Ojaswini

Question Number : 8 Question Id : 7532295875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(i) 8 SufaRmal, 7, 19, 3o, geera, fh=IR 3R Bi¥ar & uRkar #, T8 1SS § o faarfed 6



(ii) UCKTd! F P ardl SIR YA BI AT G
(iii) SR T &1 Ul 3R BRI B AT |
(iv) BT fHR ot Ui 3|

frafefed faweal & § ®F faarfed Sisi & 4 ws g2
Options :

1. % BT iR R

2. ¢ et 3R fHRIR

3. % gead! 3R T99

4. % T 3R G

Question Number : 9 Question Id : 7532295876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pramod, Dilip, Rohan, Sukumar, Tilak, Vishak, Wasim and Nilam are sitting around a circle facing the centre. Tilak is second to the right of
Rohan, who is third to the right of Pramod. Sukumar is second to the left of Pramod and fourth to the right of Dilip. Nilam is third to the right of
Vishak, who is not an immediate neighbour of Pramod.What is Pramod’s position with respect to Sukumar?

Options :

1. # Fourth to the left
2. % Fourth to the right
3. % Fifth to the left

4. ¥ Sixth to the left

Question Number : 9 Question Id : 7532295876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e, feeliy, e, YHaR, faasw, faxne, a8 iR iaH U6 9a & IRI SR &g &1 3R & TRd d6 & | faad g & el iR g
R R g, ol JHIE & il 3R IR [T W g | HHR TG & 9T 3R gER [T W AR fGelid & grff iR 1) RiFA R g1 -iaw, fa=mes
& grff 3R R WM R 8, S THle &1 ey Ui 781 8 IIHHR & I o vl &) Rufa an g2

Options :

1. % grff SR <

2. % GRIY SR e




3. % gTY 3R Ulerar
4. ¢ 9 3R a1

Question Number : 10 Question Id : 7532295877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:
All temples are shrines.
All monuments are temples.

Conclusions:
I. Some temples are monuments.
II. Some shrines are temples.

Options :

1. ¥ Both conclusions I and II follows
2. % Only conclusion II follows

3. # Only conclusion I follow

4. % Neither conclusion I nor II follows

Question Number : 10 Question Id : 7532295877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T HyT SR Fsh ol &1 eaTgd e Ufed| I8 HHd U b U1 8 &Y 718 TMaR! 9d 8, ¥dl 81 a8 I &0 3§ 1 ad! 9 i eftd
gIc g1, T B b fau 7T Freen s I ¥ S U1 &7 dlihd 0 I IR0 Hdl § (Hd )|

DHY:

quff wfeR e B
Tt ¥R AfeR
AP

1. $% Hiex WR® 5 |
1L $© o AR B




Options :

1. ¢ Fpe 1 3R 11 ST SRR vl §

2. % Had fSHY 11 ST HdT &

3. % Had sy [ 3R HdT ]

4. % T fp 1 iR T8 11 SRR B §

Question Number : 11 Question Id : 7532295878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

Some marts are forests.
All forests are costumes.
No costume is a ship.

Conclusions:
I. All marts being ships is a possibility.
II. Some costumesare marts.

Options :

1. % Both conclusions I and II follow
2. % Only conclusion II follows

3. # Only conclusion I follows

4. % Neither conclusion I nor II follows

Question Number : 11 Question Id : 7532295878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T HYHT 3R FISh Sl ! &Yde Ufed| I8 AMHd g foh &1 § €1 T8 SR 9 §, Yl 81 98 AEH =0 3 J1d a2 § e vedtd
B B, T R o fou U sl §  1H Hu=l &1 difches 0 I 3ITRU BT § (Hd §) |

HY:
$3 AE g g




gyt a7 U |
s UIRIS ST6To Te! 5

fsep:
1. 9t A1¢ & R4 811 &1 YHE g |
II. $ TR, A 3|

Options :

1. % Fpe 1 3R 11 G SRR vl §

2. ¢ Had [HY 11 SR HT &

3. % Had sy [ SIR HdT |

4. % 9 FHY 1 SR TS 11 SRV HRA §

Question Number : 12 Question Id : 7532295879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged in the following equation to make it correct?

4x294+14-120+40=4
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

| X and —
> +and +

3 + and —

4 ¥ and -



Question Number : 12 Question Id : 7532295879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed TR0 &1 4l B & fore fb < fagl & sfue § saer S arfge?

4 %294+ 14-120+40 =4

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

| X3HR -
), T+
; +3HR -
4 XA+

Question Number : 13 Question Id : 7532295880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

4,7,17,38,72,123, 193, 286, 408, ?
Options :
1. % 512
2. % 521
3. % 516
4. ¥ 561



Question Number : 13 Question Id : 7532295880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fasedl O 9 g ket g o faferiRad @ & uydrae g (2) &1 R o 96 |

4,7,17,38,72,123, 193, 286, 408, ?
Options :
1. % 512
2. % 521
3. % 516
4. ¥ 561

Question Number : 14 Question Id : 7532295881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the Venn diagram that best illustrates the relationship between the following classes.

Actors, Fathers, Uncles
Options :

2.¥



Question Number : 14 Question Id : 7532295881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G 3 3G BT I B3 ol Ffafad ol & S J9y &) gatad U J cfdarg|
3T, fudr, =men

Options :



Question Number : 15 Question Id : 7532295882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If you have started from your home and moved 15 m forward to reach a garden in the north-east direction, and then turned left and moved 8 m to
reach a bus stop, then you are:

Options :

1. ¥ north of your initial position

2. % south of your initial position

3. # 18 m from the initial position

4. ® West of your initial position

Question Number : 15 Question Id : 7532295882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 31T 3T &R ¥ A ad IR-Jd G- H T S 9o Uga- & flE 15 m IAHR 3T §, 3R [ a1 TSHR a9 W9 ddb Uga & falg




8m%|a%,(_‘ﬁ3ﬂ'q %l
Options :

1. ¢ 3D URIYS RUFA F I A

2. % 3! URfYS fRufq & gfaor &
3. % RIS R T 18 m ™

4. % 3D URIYS RYfq & gfyq o

Question Number : 16 Question Id : 7532295883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an electric substation, pole R is 10 m north of pole A. Pole K is exactly in the middle of poles R and A. Pole N is 7 m east of pole A. Pole M is
7 m east of pole K. Pole S is 6 m north of pole M. What is the distance between poles S and N?

Options :
1.¥ Ilm
2.% 12m
3. 13m
4. % 16 m

Question Number : 16 Question Id : 7532295883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAegd e H, TR, A AP 10 m SR A | TAK, TARMMAF IH S AR I AN, TAAF T m @ H gl NAM, TTAK &
ITmIE AR NASTAM P 6 m STRAGI TA S 3R T N & o1 BT g3 T 82

Options :

.¥ 1lm

2. % 12m

3.% [3m

4. % 16m

Question Number : 17 Question Id : 7532295884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is related to figure C in the same way as figure B is related to figure A.

S0

A B G D
Options :

B




Question Number : 17 Question Id : 7532295884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faed &1 T & S 3T fa ¢ F I UhR Faifdd §, S 3N B, P A J Tl g1

S0

A B C D
Options :

:




4. %

Question Number : 18 Question Id : 7532295885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the figure that does NOT belong to the following series.

T}m"r‘“I S[:I‘ﬂt TSN DAN TDN
S T D T A
A B C D E
Options :
1. % A
2. % B
3. % C
4. ¥ D

Question Number : 18 Question Id : 7532295885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 3P B! UgaM B Sl gfoiad Raar & Hafdd 81 5|

ND AN N‘&h NS NS
TA SD TS D‘ﬁi TD
S T D T A
A B C D E
Options :

1. % A



2.% B
3.% C
4. ¥ D

Question Number : 19 Question Id : 7532295886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.
P

REFERENCE

Q
Options :

 x« BEEEEEUCE

,x dJdUAITH A
3 dIUMHAHTH A

4QHEEEHMECE

Question Number : 19 Question Id : 7532295886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T TOioH P T8t Ul B BT T8 B, Tq U0 B 'PQ TR -1 fe@y 3HR 3@ T g |
P

REFERENCE
Q



Options :
1‘wB’E]:EB'EMCE
, x 2023UATTd 4

,« B EEREBEMECE

Question Number : 20 Question Id : 7532295887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following figures. How would
this paper look when unfolded?

..... o]

Options :

oo
a0 3
040



o0
a oo
oo
A_A

jo =N o
- (-
o0

>0 O
0 O
>0 O

Question Number : 20 Question Id : 7532295887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT & TP TS Bl HIe BT A 3R o ad T IS §UHNTS &I Hlel 141 8, 39 Fafafad srepfadt § fomar mar 8| Wiem R 78
BRI T TG

_____ N

Options :



o0

8 on.

oo
2. ®

o0

- | - |

oo
3 % A A

oo

oo o
4 F A

General Awareness

Group Number : 2
Group Id : 753229306

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 753229306
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229369
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532295888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Stratosphere, the layer of earth's atmosphere, lies between the troposphere and:
Options :

1. # lithosphere

2. % thermosphere

3. % mesosphere

4. % exosphere

Question Number : 21 Question Id : 7532295888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
FHATHS 3R Jedl & argHed Bl URd, &iHAsd 3R fhae s fRa 82
Options :

1. % qHSd

2. % YORBGIR

3. ¢ AEHSA

4. % TR

Question Number : 22 Question Id : 7532295889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Angstrom is a unit of length which is equal to:
Options :

1. # 0.001 centimetre

2. % 0.1 millimetre

3. % 0.1 nanometre

4. % 0.001 metre

Question Number : 22 Question Id : 7532295889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRCIA G310 &1 SHTS &, S fa & SRIeR gldl 82
Options :

1. % 0.001 YR

2. % 0.1 ficHeR

3. ¢ 0.1 TR

4. % 0.001 Hiex

Question Number : 23 Question Id : 7532295890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is also known as Deuterium?
Options :

1. # Heavy water

2. % Oxygen

3. # Nitrogen

4. ¥ Heavy hydrogen

Question Number : 23 Question Id : 7532295890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 fod Sgefam & =0 o SH1 SITa1 82
Options :

1. % YRS

2. % S

3. % ATgcIoA

4. ¥ g gIZgIoH

Question Number : 24 Question Id : 7532295891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following options contains the plantation crops only?
Options :

1. # Rice, Coffee, Rubber, Urad

2. % Coffee, Rubber, Banana, Wheat

3. # Cotton, Jute, Coffee, Rice

4. ¥ Tea, Coffee, Rubber, Banana

Question Number : 24 Question Id : 7532295891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafea 4 3 ford faded & Faa U e [N 82

Options :



1. % Jad, BB, I, IS4
2. % HIDY, IR, Hal, g
3. % Pic, S, HIP!, I1dd
4. ¥ T, HIBI, IR, Bl

Question Number : 25 Question Id : 7532295892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following mountains is a fold mountain with rugged relief and high conical peaks?
Options :

1. #® The Vindhya Mountains

2. ® The Satpura Mountains

3. # The Kilimanjaro Mountains

4. ¥ The Himalayan Mountains

Question Number : 25 Question Id : 7532295892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad ¥ § HH-91, afia/Aiser 8k 32 AeTeR RRaR) ardr udd 82
Options :

1. % fdeg gdd

2. % JdgsI ydd

3. % forelHeIR] dd

4.  fguTerd udd

Question Number : 26 Question Id : 7532295893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Buland Darwaza was constructed at Fatehpur Sikri after Akbar’s victory over:
Options :

1. # Sindh



2. # Malwa
3. ¥ Gujarat
4., % Mewar

Question Number : 26 Question Id : 7532295893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol go TR 1A o 918 3HeR - BagyR R H i grarsT &I AT dxam|
Options :

1. % ¥y

2. % HIcdl

3. ¢ ToRId

4. % AAI8

Question Number : 27 Question Id : 7532295894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This invasion was followed by a series of plundering raids by the Afghan ruler Ahmad Shah Abdali, who invaded north India five times between:
Options :

1. # 1728 and 1733

2. % 1734 and 1736

3. % 1743 and 1747

4. % 1748 and 1761

Question Number : 27 Question Id : 7532295894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST I 31EHE M8 ATAl! H P JeuTe ge1sf o A1y gran Ht fovar | I ford 3rafd & R STR YR TR Uid §R {TeHHU fha
Y19

Options :

1. % 1728 3R 1733




2. % 1734 3R 1736
3. % 1743 3R 1747
4. % 1748 3R 1761

Question Number : 28 Question Id : 7532295895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the battle of Sammel, also known as the Battle of Giri-Sumel, fought between the armies of Sher Shah Suri and Rao Maldeo?
Options :

1. #® 1542

2.9 1544

3. ¥ 1546

4, % 1548

Question Number : 28 Question Id : 7532295895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRIME L 3R 1a AT o1 I131 & o g3 I, ord FY-gAd g & =0 & i 1 ot 81 98 g5 o o wret Tmam|
Options :

1. % 1542

2.9 1544

3. % 1546

4. % 1548

Question Number : 29 Question Id : 7532295896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Gupta cities is located in the northern most part of the India?
Options :

1. ¥ Thanesar

2. # Prayaga

3. % Ujjain



4, % Mathura

Question Number : 29 Question Id : 7532295896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9S-I e TR YR & g 3! HIT H fRyd 82
Options :

1. ¢ YHIR

2. % TN

3. % IoH

4, % HYIT

Question Number : 30 Question Id : 7532295897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Rajiv Gandhi Khel Ratna Award for Para Athletics?
Options :

1. # Vinesh Phogat

2. % Rani Rampal

3. ¥ Manika Batra

4. ¥ Mariyappan Thangavelu

Question Number : 30 Question Id : 7532295897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRad 8§ 9 foem IR Tyaife & fore Yrshia i W Id [REBR S
Options :

1. % fg=1 e

2. ® ! HATA

3. % HIfD &=

4. ¢ HRAWT YT



Question Number : 31 Question Id : 7532295898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following books is written by Galileo Galilei (1632)?

Options :

1. ® Physica (Physics)

2. ¥ Dialogue Concerning the Two Chief World Systems

3. # De Revolutionibus Orbium Coelestium (On the Revolutions of Heavenly Spheres)
4. ® De Humani Corporis Fabrica (On the Fabric of the Human Body)

Question Number : 31 Question Id : 7532295898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9S-I Qas Teiferl e (1632) 7 fordt

Options :

1. % fthfoienT (fthisTeRT)

2. ¢ AN HHAT G ¢ I ace RReH

3. % {3 ARy siifdan Hiuafean (3 g Raleg@m i gawi Tha)
4. % & A HIUIRY BioewT (3111 € hisd 3% € ggr il

Question Number : 32 Question Id : 7532295899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The language, that is NOT included in the 8th Schedule of the Constitution of India is:
Options :

1. #® Oriya

2. % Nepali

3. % Kannada

4. ¥ Bhojpuri

Question Number : 32 Question Id : 7532295899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

RATT T3 & saft St & 2nfiret 9 &1 73 | &1 3 82
Options :

1. % 3fifsar

2. % JUrel

3. % HAS

4.¢ﬂh?r|1j?°r

Question Number : 33 Question Id : 7532295900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to which of the following Schedules of the Constitution of India were the legislative powers divided between the Union and the
States?

Options :

1. ¢ 7% Schedule
2. % ¢ Schedule
3. % 314 gchedule
4. % 4th gehedule

Question Number : 33 Question Id : 7532295900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Tfae ot Fafafad o et & ruR furd widqar 99 ok st & o s &1 1o
Options :

1. ¢ 741 3Tt

2. % 6ol S

3. % 3] Il

4. % 44} 3rTgdt

Question Number : 34 Question Id : 7532295901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nattupurakalaimani is a famous folk art of:
Options :

1. # Manipur

2. % Tamil Nadu

3. % Karnataka

4. ¥ Meghalaya

Question Number : 34 Question Id : 7532295901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TCCIRBICTATT o o0 FT T URIG Al Tfid g2
Options :

1. % HOQR

2. ¢ AfeArg

3. % BAICH

4. % HYTY

Question Number : 35 Question Id : 7532295902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a Buddhist festival?
Options :

1. ¥ Paryushana Parva

2. % Saga Dawa

3. * Pang Lhabsol

4. # Drukpa Tshezhi

Question Number : 35 Question Id : 7532295902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafed # 9 &9 91 T dig ud a1 82
Options :

1. ¢ TWU g

2. % AT Il

3. % G gred

4. % ghyr Al

Question Number : 36 Question Id : 7532295903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following institutes focuses on sustainable, equitable agriculture and rural development through participative financial and non-
financial interventions?

Options :

1. ¥ EXIM Bank
2. ¥ NABARD
3. % SIDBI

4. ¥ HDFC

Question Number : 36 Question Id : 7532295903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 3 ford TR = Tgurh faxia Sik IR-faxia gwaadl & A1y ¥ SRl g 3fad HiY iR T e WR & disd foar
Yr?

Options :

1. #® QYR S (EXIM Bank)

2. ¢ FTETS (NABARD)

3. % T.315.S1.41.3M%. (SIDBI)

4. % TG 31.UG.U(HDFC)

Question Number : 37 Question Id : 7532295904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What was the worker-population ratio for women in India in 2017-18?
Options :
1. % 142
2.¥16.5
3. % 175
4. % 347

Question Number : 37 Question Id : 7532295904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2017-18 T YR H Afgarsfi & A HHARI-SHIRAT 3UTd fahaT 412
Options :

1. % 14.2

2.9¥16.5

3. % 175

4. % 347

Question Number : 38 Question Id : 7532295905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among these is a traditional Chinese sport that came in India in 1989?
Options :

1. * Judo

2. % Wushu

3. * Taekwondo

4. * Rugby

Question Number : 38 Question Id : 7532295905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad # @ o I1 == 9 1989 & Ugeh IR HRd H M

Options :



1. % S[&
2. ¥ 9
3. % digdiel
4. % Tq

Question Number : 39 Question Id : 7532295906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among these is NOT a track and field athlete?
Options :

1. # Manjeet Kaur

2. % Chitra Soman

3. # Pinki Pramanik

4. ¥ Richa Mishra

Question Number : 39 Question Id : 7532295906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafiRad # 9 @I, ¢ S Hies Tydiic T8l 87
Options :

1. % Told DR

2. % T A

3. % fUopt RIS

4.« F1 o

Question Number : 40 Question Id : 7532295907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was named as the ambassador of the World Wide Fund India in April 2020?
Options :

1. ¥ Viswanathan Anand



2. * Virat Kohli
3. # Saina Nehwal

4. % Leander Paes

Question Number : 40 Question Id : 7532295907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 2020 H, FAEfoied o 9 ford ace a128 %e S &1 Ieigd ST 741 U1?

Options :
1. ¢ fa8y 3imHe
2. % a7 BIga
3. % g1 Agard
4. % feR U9
Arithmetic Ability
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Group Id : 753229307
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Section Id : 753229307
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Number of Questions to be attempted : 20
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Sub-Section Number : 1
Sub-Section Id : 753229370
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Question Number : 41 Question Id : 7532295908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 : 7 ; .
o of the balls in a drum were red, e of the balls in the drum were blue and the rest were vellow. In that drum, if there

were 38 more blue balls than yellow balls, then how many balls were there in the drum in all?
Options :
1. % 720

5« 180
3 % 900

4 % 1080

Question Number : 41 Question Id : 7532295908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
um'g'm?rE CICKIrCy 11 el 31 3 aTehr el 31, off | 38 37 H, FfE e gt Fr e & 38
3T, Sl T 37T off, A 37 & ot hctetr 316, 27

Options :



1. % 720
2 « 180
3 % 900

4 % 1080

Question Number : 42 Question Id : 7532295909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The smallest possible square number that is divisible by each of 20, 24 and 48 is:
Options :

| % 2500

5 & 3600

Question Number : 42 Question Id : 7532295909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g8 T BIc] g1 TBAT JTd HIoE Sl 20, 24 3R 48 § I AP I fGHIod 811

Options :
1. ® 2500

5 & 3600



3 % 3025

4 % 3844

Question Number : 43 Question Id : 7532295910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the number 5632768pq is divisible by 11, then the minimum difference of q —p is:
Options :

1. % 0

Question Number : 43 Question Id : 7532295910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl TAT 5632768pq 11 T fAHTSTd Bl 8, Tl q - p BT FrAaH AR b= I

Options :
1. % 0



Question Number : 44 Question Id : 7532295911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of ? [15 o afi—!— 68 + 15 X 4% + Sﬂ is:

Options :
1. % 1816.5

Question Number : 44 Question Id : 7532295911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

z [15 +20f24+68+12 x 42 + 32| BIAM A ST
Options :

| % 1816.5

5 % 2780.5

3 % 1796.5



Question Number : 45 Question Id : 7532295912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of petrol went up by 57.5% but Seema decided to raise her fuel expenses by only 26%. By what percentage
did she reduce her quantity of petrol purchased?

Options :

1.« 20%

» % 18%

4 % 15%

Question Number : 45 Question Id : 7532295912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UCTd Bl BIId H 57.5% 1 9l B, Wich Y 30 347 W &l dad 26% Sel- &l by (b1 df 3T 204
RIS T Ui @1 AE A e wiwd St et B

Options :

| v 20%

) % 18%



Question Number : 46 Question Id : 7532295913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two numbers are in the ratio of 7 : 4. A number twice the second number is added to the sum of the first two and now

the sum is 760. What was the difference between the first two numbers?
Options :
1. ® 150

5> & 120
3 % 100

4 % 180

Question Number : 46 Question Id : 7532295913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&I WA 7 : 4 o SUIG H 8| GO S &1 G U 1 Ugell &l SISl o GRThd | SIS] offdl 8 3R 3
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Options :
1. % 150

5 @ 120
3 % 100

4 % 180



Question Number : 47 Question Id : 7532295914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A trader has 80 kg rice. a part of which he sells at 15% profit and the rest at 5% loss. He gains 12% on the whole. What

is the quantity of rice (in kg) sold at a 5% loss?
Options :
1. # 50

) ® 72
3.« 12

4 % 068

Question Number : 47 Question Id : 7532295914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh HIR] & TN 80 ke TG0 o, foTGHT Ul HITT T8 15% ATH TR 0T =Y 50 1 R a9l ¢ | fored 39 &a
fAATBT 129 BT AH BIAT &1 T 5% BT IR &d T I1ad &1 96 (kg H) fHa g2

Options :
1. ®% 50

 ® 72

3 ¢ 12

4 % 68



Question Number : 48 Question Id : 7532295915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is 80% more than B and C is 48 % % less than the sum of A and B. By what per cent is C less than A?
Options :

1.+ 20%

) # 25%

3 % 18%

Question Number : 48 Question Id : 7532295915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A, B Y 80% HlUH Gﬁ?C‘AﬁE$W%4B§% giawd ®H g1 ¢, A ¥ fdod Ufd=rd &4 g2

Options :
1.« 20%

) # 25%

3 % 18%

Question Number : 49 Question Id : 7532295916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A deposited 80,000 in a bank at 5% compound interest compounded annually. Find the interest earned (in %) after 1
year 6 months.

Options :

| % 5,700

5 % 6.250
3 % 5.980

4 v 6,100

Question Number : 49 Question Id : 7532295916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ATAUH §H H 59 At ehgfeq TS UR 280,000 ST [HUI 1 I8 6 TS & ala 34 gRT Hold sS4l (2 ) 1d
DI

Options :

5 % 6.250
3 % 5.980

4 v 6,100

Question Number : 50 Question Id : 7532295917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A sum of money earns a simple interest at 10% per annum for the first 4 years, at 12% for the next 3 years, and at 8%
for the final 2 years. If the total interest earned during these 9 years was 22,576, what was the original sum (in )
invested?
Options :
| 2.800

3 % 3,000

4 % 2.900

Question Number : 50 Question Id : 7532295917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U MR R UG 4 IU[ &b T 10% Wl aH, [T 3 TNT b [T 1296 3R 3ifH 2 I81 & [O1T 8% DI &3 U TR
=7l e 21 af 59 0 Tl & SR Hfold $ot &1l 22,576 4T, A1 a1 &1 718 qa iz 7) 31 o

Options :
1 2,800

3 % 3,000

4 % 2.900



Question Number : 51 Question Id : 7532295918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A person leaves her home every day at 7.30 a.m. and reaches her office at 9:54 a.m. One day, she left her home at 7.30

; 4 . :
a.m. but travelled a fourth of the distance at s of the usual speed. At how many times her normal speed did she travel

the remaining part of the journey if she managed to reach her office on time?
Options :

1
1% 11

14
2. 11

3 & 11

18
4. % 11

Question Number : 51 Question Id : 7532295918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Higdl Uidic gag 7.30 0 30 B 4 Fdbeid! 8 3R Yag 9:54 Tol 30+ Haied Ugd ol g | U [, 98
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Options :




2. v 11

18

Question Number : 52 Question Id : 7532295919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Acan do a job alone in 18 days, B can do it alone in 15 days, while A, B and C working together can complete the job
in 6 days. In how many days can C do twice of the job alone?
Options :
1. % 50

Question Number : 52 Question Id : 7532295919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A TP B &1 apd 18 ol § HR BT 8. B 2100 39 15 el & o1 UahdT 8, 9a(% A, B 3R ¢ U Y B
A GU ST B Dl 6 Al H QIR T g | € el BT BT &l-IAT B [ 1671 H B Tebdl g2

Options :

1. ® 30

) #® 35

3.¢ 45

Question Number : 53 Question Id : 7532295920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average expenditure of Shivam for 5 days is 2280. If his expenditure for the first 4 days are 2170, 2140, T 200 and

2490, respectively, then what is his expenditure (in Z) on the e day?
Options :

| % 500

» % 350

3 & 400

4 % 450

Question Number : 53 Question Id : 7532295920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1G9 o1 5 a1 o1 i | 2280 €1 A1E U 4 31 o AT ITaeT @d HHRE: 2170, 2140, 2200 3R 2490 €, I 59
G 1 3Td1 @ (z ) fbai g2

Options :
1. ® 500

5, % 350
3« 400

4 % 450

Question Number : 54 Question Id : 7532295921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The marked price of an article is T800. After two successive discounts of 16% and 12.5% an item was sold for Ix. What

is the value of x?
Options :
1. % 612

) ®% 718

Question Number : 54 Question Id : 7532295921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ush I B aHfchd Hed 2800 81 S 16% R 12.5% I &I HHRTI B & §I¢ dg 9¥g zx H | g, dl x BT {F 1
8?

Options :
1. % 612
) % T18

3 % 625

4 & 588

Question Number : 55 Question Id : 7532295922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of a circle is 260.26 m?. Find the radius of the circle. [Take m= 1—2]

Options :
1 % 8§4m

) # 8.8m
3 % 7.7m

4.« 9.1m

Question Number : 55 Question Id : 7532295922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS T BT 8B 260.26 m? §1 1 Il B! Fe1 1 HIfSTT | [ =22 fiforg)

Options :
1 % 8§4m

) % 8.8m
3 % 7.7m
4.« 9.1m

Question Number : 56 Question Id : 7532295923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A circular wire of radius 35 cm is folded in the shape of a rectangle whose sides are in the ratio of 7 : 4. The area (in

cm? ) enclosed by the rectangle is:
Options :
|« 2800

5 % 3250
3 % 3000

4 % 3600

Question Number : 56 Question Id : 7532295923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



35 cm AT G101 Ueh Gl AR &I U TG o AHR 1 HIST Ofldl 6. Forgdh! Yol 7 : 4 & Hurd # g1 dl 211ad
GRI YR 741 &% ( cm? #) 182

Options :
1.« 2800

5 ® 3250
3 % 3000

4 % 3600

Question Number : 57 Question Id : 7532295924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of a right circular cone is given as 770 m?. If the radius of the base of the cone is 7 m, find the height of the

cone. [Usen =2?—2 ]

Options :
1.« 15m

7 % 17.5m
3 % 105 m

4 % 14m

Question Number : 57 Question Id : 7532295924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
U O 019 P BT 3G 770 m &1 T €1 9 P & MR B B 7 m 8, T S B Hdls 910 S|
[ == & ITRT D]

Options :
1.« 15m

7 % 17.5m
3 % 105 m
4 % 14m

Question Number : 58 Question Id : 7532295925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table presents the number of cars sold by dealers A, B, C, D and E during the first 6 months of 2018.

Month
Dealer January February March April May June
A 620 640 622 635 430 625
B G00 42 G635 380 450 520
C 640 635 640 540 625 740
D 520 645 722 740 200 780
E 543 633 720 740 650 00

The total number of cars sold by dealers B and D in March is how much less than the total number of cars sold by

dealers A and E in June?
Options :



Question Number : 58 Question Id : 7532295925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 <1 175 IRt 2018 & USH 6 He Ml & GIRIF SITRI A, B. C. D 2R E §RI 991 g BRI oI Y4B g2l g

CEE
s | TR | BRI | AE | ofid | wE | O
A 620 640 628 635 430 625
B 600 642 635 580 450 620
C 640 635 640 540 625 740
D 520 545 7122 740 600 780
E 548 538 720 740 650 800

o o STk B 3R D gRI 99! 715 BRI BI el ST, 5 H SITR A 3R E GRI §41 7Tg BRI 61 el YT Y fobal
6H g2
Options :
1. ® 75

7 « 068

3 & 5T



4. % 62

Question Number : 59 Question Id : 7532295926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following pie chart gives the break-up (degree-wise) of students in terms of specialisation in different areas (A, B.

C, D and E) in an MBA programme.

Total Number of Students = 2100

mA 5B mC D mE

The total number of students specialising in A and C exceeds the total number of students specialising in B and D by x,

which lies between:
Options :

1. % 50and 55

> % 55 and 60

3 « 20and 25

4 % 15and20

Question Number : 59 Question Id : 7532295926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

i fearmarug 9r¢. MBA U H [f3F f[AURT (A, B, ¢, D AR E) ¥ fG=I93Tdr o 919 § SE1 o 3T- 3R]
Hibe ([ & YR IR) WeRid Harg |

D Dl Hd T = 2100

mA 5B EC =D mE

A ¥R ¢ T fa=INsTar @ a1d SE1 &1 $d ST, B 3R D U fARISSA1 1@ aTd SH1 &1 $d 1 U x & 8, Sl
fasrdafRas

Options :

| % 50 3R 55
5 % 55 3R 60
3 v 20 3R 25

4 % 15320

Question Number : 60 Question Id : 7532295927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following bar graph represents the data of the Production of Paper (in ten lakh tonnes) by three different companies
X, Y and Z during the vears 2008 to 2012, The x-axis shows the Years and the y-axis represents the Production of Paper
(in ten lakh tonnes). (Note: The data shown is only for mathematical exercise. They do not represent the actual figures.)

Production of Paper (in ten lakh tonnes) by Three Companies
X, ¥ and Z during the Years 2008-2012
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The total production by Company Z during 2008, 2011 and 2012 is what percentage less than the total production by
Company Y during 2009 and 2010 and X during 2011 and 2012 taken together (correct to nearest integer)?

Options :
1. ® 36.5%
) # 45.8%

3 % 27.2%

4 & 32.5%



Question Number : 60 Question Id : 7532295927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 36.5%
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Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

Iron is very useful than any other metal.
Options :

1. ¥ more useful

2. % most useful

3. * much useful

4. # No improvement

Question Number : 61 Question Id : 7532295928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

Iron is very useful than any other metal.
Options :

1. ¥ more useful

2. % most useful

3. #* much useful

4. % No improvement

Question Number : 62 Question Id : 7532295929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

She left the room in tears, so I went over her.
Options :

1. ¥ went after

2. #% went about

3. % went along

4. % No improvement



Question Number : 62 Question Id : 7532295929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

She left the room in tears, so I went over her.
Options :

1. ¥ went after

2. # went about

3. ¥ went along

4. ¥ No improvement

Question Number : 63 Question Id : 7532295930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is expected that gold prices will rise in the festival season.
Options :

1. % openly

2. % violently

3. # readily

4. ¥ sharply

Question Number : 63 Question Id : 7532295930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is expected that gold prices will rise in the festival season.
Options :

1. * openly

2. % violently

3. # readily

4. ¥ sharply



Question Number : 64 Question Id : 7532295931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct homonym pair to be filled in the following sentence:

Mala, wearing a dress eloped on a horse witha
Options :

1. % bridal, bridal

2. % bridle, bridle

3. ¥ bridal, bridle

4. # bridle, bridal

Question Number : 64 Question Id : 7532295931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct homonym pair to be filled in the following sentence:

Mala, wearing a dress eloped on a horse witha
Options :

1. * bridal, bridal

2. % bridle, bridle

3. ¢ bridal, bridle

4. * bridle, bridal

Question Number : 65 Question Id : 7532295932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

His infatuation from that girl led him astray;.
Options :

1. ¥ from

2. % that



3. % led

4. % astray

Question Number : 65 Question Id : 7532295932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

His infatuation from that girl led him astray;.
Options :

1. ¥ from

2. % that

3. % led

4. % astray

Question Number : 66 Question Id : 7532295933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

Positive emotions energize us and enhances our sense of emotional well-being.
Options :

1. % us

2. % enhances

3. % of

4. % well-being

Question Number : 66 Question Id : 7532295933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

Positive emotions energize us and enhances our sense of emotional well-being.



Options :

1. # us

2. ¥ enhances
3. % of

4. # well-being

Question Number : 67 Question Id : 7532295934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is appropriate for the blank.

Nupur is a visitor to our house.

Options :

1. ¥ frequent

2. # frequently
3. % frequented
4. # frequenting

Question Number : 67 Question Id : 7532295934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is appropriate for the blank.

Nupur is a visitor to our house.

Options :

1. ¥ frequent

2. % frequently
3. % frequented
4. % frequenting

Question Number : 68 Question Id : 7532295935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the antonym of the given word.

'Conceal’
Options :

1. # Seal
2. # Deal
3. ¥ Reveal
4. # Heal

Question Number : 68 Question Id : 7532295935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the antonym of the given word.

'Conceal’
Options :
1. # Seal
2. % Deal
3. ¥ Reveal
4. % Heal

Question Number : 69 Question Id : 7532295936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct word from the options given below and fill in the blank.

Will you please sing on the of my child’s first birthday?

Options :

1. #® occassion
2. % ocassion
3. #® ocasion

4. % occasion



Question Number : 69 Question Id : 7532295936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct word from the options given below and fill in the blank.

Will you please sing on the of my child’s first birthday?

Options :

1. #® occassion
2. % ocassion
3. #® ocasion

4. % occasion

Question Number : 70 Question Id : 7532295937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can best substitute the following set of words.

a polygon with six sides and six angles
Options :

1. # pentagon

2. ¥ hexagon

3. # heptagon

4. # octagon

Question Number : 70 Question Id : 7532295937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can best substitute the following set of words.

a polygon with six sides and six angles
Options :
1. * pentagon

2. % hexagon



3. # heptagon

4. # octagon

Question Number : 71 Question Id : 7532295938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word of the following:
Options :

1. % Arithmatic

2. % Arithmetic

3. # Arethmatic

4. ® Aerthmetic

Question Number : 71 Question Id : 7532295938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word of the following:
Options :

1. % Arithmatic

2. ¥ Arithmetic

3. % Arethmatic

4. % Aerthmetic

Question Number : 72 Question Id : 7532295939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. Mehta had a narrow escape yesterday when his car left the road. Here “a narrow escape” means.
Options :

1. # Escape by a good chance

2. % Escape by a very slight margin

3. # Escape by a very narrow road

4. % Escape by a good road



Question Number : 72 Question Id : 7532295939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. Mehta had a narrow escape yesterday when his car left the road. Here “a narrow escape” means.
Options :

1. ® Escape by a good chance

2. ¥ Escape by a very slight margin

3. ® Escape by a very narrow road

4. ® Escape by a good road

Question Number : 73 Question Id : 7532295940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the idiom/phrase:

Jack of all trades

Options :

1. ® A merchant involved in many occupations
2. % A merchant who sells all kinds of Jackfruits
3. ¥ someone who is able to do many things

4. ® Someone who knows everything

Question Number : 73 Question Id : 7532295940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the idiom/phrase:

Jack of all trades

Options :

1. ¥ A merchant involved in many occupations
2. % A merchant who sells all kinds of Jackfruits

3. ¥ someone who is able to do many things



4. # Someone who knows everything

Question Number : 74 Question Id : 7532295941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. agricultural industry, cattle rearing and fishing

Q. storing, distributing and handling to maintain equality

R. government should monitor the productivity of food supply from
S. and also check wastage of resources in

Options :

1. % RSPQ
2. % RQPS
3. ¥ RPSQ
4. % PRQS

Question Number : 74 Question Id : 7532295941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. agricultural industry, cattle rearing and fishing

Q. storing, distributing and handling to maintain equality

R. government should monitor the productivity of food supply from
S. and also check wastage of resources in

Options :

1. % RSPQ
2. % RQPS
3. ¥ RPSQ
4. % PRQS

Question Number : 75 Question Id : 7532295942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. and research to promote new innovations and development

Q. as ages passed, man began to think, analyze and investigate

R. which become scientific theories and principles for further discoveries
S. the mysteries of nature and found the magic in natural phenomena

Options :

1. # RSPQ
2. % RPQS
3. % SQRP
4. ¥ QSRP

Question Number : 75 Question Id : 7532295942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. and research to promote new innovations and development

Q. as ages passed, man began to think, analyze and investigate

R. which become scientific theories and principles for further discoveries
S. the mysteries of nature and found the magic in natural phenomena

Options :

1. # RSPQ

2. % RPQS

3. ¥ SQRP

4. ¥ QSRP

Sub-Section Number : 2
Sub-Section Id : 753229372
Question Shuffling Allowed : Yes

Question Id : 7532295943 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)



Read the following passage and answer the questions given after it.

The behavioural views of the merits of an optimistic or pessimistic mind-set contrast with the perspective of mainstream economics according to
which it is best to have realistic beliefs. The point is that to make good decisions, accurate, unbiased information is required.

Optimism and pessimism are therefore judgmental biases that make for poor decisions, leading to worse outcomes and lower wellbeing.
Particularly prone to harmful error of this sort are career choices, saving decisions and any choice involving risk and uncertainty.

In our research, we investigated whether it is optimists, pessimists or realists that have the highest long-term wellbeing. To do this, we tracked
1,601 people over 18 years.

Wellbeing was measured by self-reported life satisfaction and psychological distress. Alongside this, we measured participants’ finances and their
tendency to have over or underestimated them. Better finances are associated with higher wellbeing, so no surprise there.

Our main finding is that it is not just outcomes that matter but also expectations. Other things being equal, overestimating outcomes and
underestimating them are both associated with lower wellbeing than getting expectations about right. Realists do best. We see that being realistic
about your future and making sound decisions based on evidence can bring a sense of wellbeing, without having to immerse yourself in relentless
positivity.

As to why these results arise, two mutually inclusive possibilities come to mind. Firstly, our results could be the result of counteracting emotions.
For optimists, disappointment may eventually dominate the anticipatory feelings of expecting the best, so happiness starts to fall. For pessimists,
the depressing effect of expecting doom (dread) may eventually dominate the elation when the worst is avoided.

An alternative to counteracting emotions is that plans based on inaccurate beliefs are bound to deliver worse outcomes than would rational,
realistic beliefs. In all events, our finding is that a misperception of either sign involves lower wellbeing.

Our study does suggest realists are the happiest, but this does not necessarily mean that becoming a realist (if such a change was possible) would
necessarily boost wellbeing. All we can say is, it might.

Sub questions

Question Number : 76 Question Id : 7532295944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the theme of the passage above?

Options :

1. # Scientists cannot understand human behavior and motivations.
2. % Having realistic expectations gives maximum satisfaction.

3. % Almost the entire population have optimistic hopes.



4. ® Misery is the fate of human beings on this planet.

Question Number : 77 Question Id : 7532295945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the cornerstones of making good decisions?

Options :

1. # It is essential to have a totally positive outlook of circumstances to make good decisions.

2. # Itis necessary to do a lot of research before taking any decision.

3. % Itis better to accept that failure is common and not expect wonderful results in order to make good decisions.

4. ¥ 1t is essential to be realistic and have accurate, unbiased information to make good decisions.

Question Number : 78 Question Id : 7532295946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option is closest in meaning to the phrase mutually inclusive?
Options :

1. ¥ Two events are mutually inclusive when they can both occur simultaneously
2. # In a mutually inclusive situation, one event absorbs and destroys another
3. % In a mutually inclusive situation two disparate events clash with each other.

4. ® One event after another destroys decision making in a person.

Question Number : 79 Question Id : 7532295947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word in the passage is closest in meaning to the word © Elation’?
Options :

1. #® concentration

2. % Exhilaration

3. # confusion

4. ® depression

Question Number : 80 Question Id : 7532295948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following didn’t surpise the researchers.

Options :

1. # it is not just outcomes that matter but also expectations.

2. # overestimating outcomes and underestimating them are both associated with lower wellbeing
3. ¥ Better finances are associated with higher wellbeing,

4. # being realistic about your future and making sound decisions can bring a sense of wellbeing,

Question Id : 7532295943 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions given after it.

The behavioural views of the merits of an optimistic or pessimistic mind-set contrast with the perspective of mainstream economics according to
which it is best to have realistic beliefs. The point is that to make good decisions, accurate, unbiased information is required.

Optimism and pessimism are therefore judgmental biases that make for poor decisions, leading to worse outcomes and lower wellbeing.
Particularly prone to harmful error of this sort are career choices, saving decisions and any choice involving risk and uncertainty.

In our research, we investigated whether it is optimists, pessimists or realists that have the highest long-term wellbeing. To do this, we tracked
1,601 people over 18 years.

Wellbeing was measured by self-reported life satisfaction and psychological distress. Alongside this, we measured participants’ finances and their
tendency to have over or underestimated them. Better finances are associated with higher wellbeing, so no surprise there.

Our main finding is that it is not just outcomes that matter but also expectations. Other things being equal, overestimating outcomes and
underestimating them are both associated with lower wellbeing than getting expectations about right. Realists do best. We see that being realistic
about your future and making sound decisions based on evidence can bring a sense of wellbeing, without having to immerse yourself in relentless
positivity.

As to why these results arise, two mutually inclusive possibilities come to mind. Firstly, our results could be the result of counteracting emotions.
For optimists, disappointment may eventually dominate the anticipatory feelings of expecting the best, so happiness starts to fall. For pessimists,
the depressing effect of expecting doom (dread) may eventually dominate the elation when the worst is avoided.

An alternative to counteracting emotions is that plans based on inaccurate beliefs are bound to deliver worse outcomes than would rational,
realistic beliefs. In all events, our finding is that a misperception of either sign involves lower wellbeing.



Our study does suggest realists are the happiest, but this does not necessarily mean that becoming a realist (if such a change was possible) would
necessarily boost wellbeing. All we can say is, it might.

Sub questions

Question Number : 76 Question Id : 7532295944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the theme of the passage above?

Options :

1. # Scientists cannot understand human behavior and motivations.
2. ¥ Having realistic expectations gives maximum satisfaction.

3. # Almost the entire population have optimistic hopes.

4. ® Misery is the fate of human beings on this planet.

Question Number : 77 Question Id : 7532295945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the cornerstones of making good decisions?

Options :

1. # It is essential to have a totally positive outlook of circumstances to make good decisions.

2. # Itis necessary to do a lot of research before taking any decision.

3. % Itis better to accept that failure is common and not expect wonderful results in order to make good decisions.

4. ¥ 1t is essential to be realistic and have accurate, unbiased information to make good decisions.

Question Number : 78 Question Id : 7532295946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option is closest in meaning to the phrase mutually inclusive?
Options :

1. ¥ Two events are mutually inclusive when they can both occur simultaneously
2. % In a mutually inclusive situation, one event absorbs and destroys another

3. % In a mutually inclusive situation two disparate events clash with each other.



4. ® One event after another destroys decision making in a person.

Question Number : 79 Question Id : 7532295947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word in the passage is closest in meaning to the word © Elation’?
Options :

1. #® concentration

2. % Exhilaration

3. # confusion

4. ® depression

Question Number : 80 Question Id : 7532295948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following didn’t surpise the researchers.

Options :

1. # it is not just outcomes that matter but also expectations.

2. ® overestimating outcomes and underestimating them are both associated with lower wellbeing
3. ¥ Better finances are associated with higher wellbeing,

4. # being realistic about your future and making sound decisions can bring a sense of wellbeing,
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Question Number : 86 Question Id : 7532295954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

He@YUl U, FHETAd 1fe BT IgYd B 3 fore o favrm fag 1 v gl &2

Options :
1. % g g
2. % fqwfediy® g



3. % ICTERUI g
4, ¢ I I

Question Number : 86 Question Id : 7532295954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEAYUl B, HETad 3MfE BT IGYd B & o [ farm fag o1 v gran &2

Options :

1. % g g

2. % fqwmriediys fug
3. % Jargru g

4. ¢ IS fag

Question Number : 87 Question Id : 7532295955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 7 3 fod a1 H S=TS Xeg BT TN g3l § 2
Options :

1. % gahad 3T Ugdll

2. % U U4 BT IR T d U e gIel |

3. ¢ Od U 9 R SR-BIR & @i 3f7at ot |
4. % 98 ITHIIY I Hifd o7 |

Question Number : 87 Question Id : 7532295955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 o 9 ford arag o SRS Weg BT TANT 3N 8 2
Options :

1. % gohad f ugdl|

2. % JUI Ul T IR Jad U el gl |

3. ¢ S H g0 R SR-JWR DI i 31t o |




4. % qg ITEY B Hifd o7 |

Question Number : 88 Question Id : 7532295956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'SR e TR T 25 § 2

Options :

1. ¢ faczh

2. % GRS

3. % ddH

4. % dad

Question Number : 88 Question Id : 7532295956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3R {5 UHR BT ek § 2

Options :

1. ¢ fagzh

2. % RIS

3. % d4H

4. % gd

Question Number : 89 Question Id : 7532295957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fHdt Trec; ) IR-TR U Ufad H fora &t 3rsa &9 91 g fierar g 2
Options :

1. % SqUidRE®

2. % b

3. ¥ RMHRD

4. ¥ GBI




Question Number : 89 Question Id : 7532295957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pt Trec; ) IR-TR U Ufad H foran &t 3rsa & 91 g fieran g 2
Options :

1. % uidrgE®

2. % Habd

3. ¥ RFRD

4. ¥ TR

Question Number : 90 Question Id : 7532295958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UG 1, AT b GO Xeal o Jra JfEId B a1l 30 Pl Had o:
Options :

1. % JoAEIYD 3oy

2. ¢ FERAYD AT

3. % DHIAAYD AT

4. % RUMHISNYS Y

Question Number : 90 Question Id : 7532295958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UE 1, 19 & GOR Ted] J Jia Gford R aTd S bl HEd o
Options :

1. % qaEIY® 3y

2. ¥ QIHEIYUD 3oy

3. % HIACIUD Y

4. % URUTHIEIYS 30y



Question Number : 91 Question Id : 7532295959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg eq 1 Tc-T 3L 82

Options :

1. % il

2. ¢ TSt

3. % TWBR

4. % DI

Question Number : 91 Question Id : 7532295959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foh g Treg BT Tt LS 87

Options :

1. % i

2. ¢ st

3. % TR

4. % DI

Question Number : 92 Question Id : 7532295960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PR el 3 & whfe e 2
Options :

1. * I

2. % foe

3. ¥ 3

4. % 3Ulalq

Question Number : 92 Question Id : 7532295960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

PRI Tl & 4 Wi e -
Options :

1. % I+

2. % fHeH

3. ¥ 3¢

4. ® 3UIqH

Question Number : 93 Question Id : 7532295961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed weal & ¥ ford Weg w1 T Sgaa A @ e g 2
Options :

1. ® ffgan

2. % dY]

3. % Il

4. % YU

Question Number : 93 Question Id : 7532295961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forafefad 2rsal # ¥ fo g Treg BT UET SgaaT A & BT 2
Options :

1. % fofSar

2. % 9

5. % dhgh

4. ¢ YIu]

Question Number : 94 Question Id : 7532295962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AR T A T BT | a1 § HH- gl g2
Options :

1. ¢ Hegrd

2. % FEaId

3. % 3Ry

4. % Hopard

Question Number : 94 Question Id : 7532295962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B G T T BT |° a1 § HIF-31 gy 82
Options :

1. ¢ Hegrd

2. % FETETd

3. % SRy

4. % Gard

Question Number : 95 Question Id : 7532295963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu T gl H @ iy AT B |
Options :

1. % 9g 30 Uarssh 7ild H g w1

2. % I 3UA &I Ay gam|

3. % T TP ST SgHt Tl

4. ¥ 9 ¢ fob g ST BT eI U

Question Number : 95 Question Id : 7532295963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fer g A @ Ay g B
Options :

|. % gg 3fU Uerseit g # g1 Ax|

2. % I U B ey sdm|

3. % HAUP 3f1 SreH 4|

4. ¢ W< g & gH S HY JA1 US|

Sub-Section Number : 2
Sub-Section Id : 753229374
Question Shuffling Allowed : Yes

Question Id : 7532295964 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

TR D UG Gaied UY &l 3R cloig|

YR Tepid & goord aqea & ol &1 €t ugen i fear man g1 131 &1 Hifds Stias &t Saadeal AT 8T Ht S gk R R @l
T 81 39 UBR o, 31, BT SR Mer 39 IR geurf &1 faem Heb Ad SHedrur o Rifg & fore ovf o1 srafkerd amr mar g1 4 3t
Yiaa BT # o, B SR el B Ut gicl g1 4 1 98 UgRI € off A &1 301 U id & STIR S=ad igyfadl ¥ uRyuf Sitae
aild B & oI MTfed SRl g1 9H afad & TR Ud dgR P U Afgdl & St S9b BT ! Saafeyd, Gafid Ud FAafd st g1
Y g 3P ot T, Iad, id UG MFgHT Sita BT AT URRd Bt g | 31d: Y Y Siia- BT 2Myd YR 3|

YR T id § 4 o o U Wy &1 S[aURUN § a8 9y &1 ot 3 il & et firerdt | v St v IO & gRT 4RO -
17 g, ST T WT0T ST & @ifches 3R UREdhds dedul ST HIF YRR &l &, TdH, R1aH, Yavr Hedr I 3R gurd dicd & o9
o e et b UefRid Rl 8, ST TR 3R JIeuTus &, St ¢ U 3R B30 BT Y ol U HUt fay I forg 2ifay 3R Tegra o7 At
T Rl ©, Ol ol fgar o1 RIam 31 2, 98t HRdIg o g

Sub questions

Question Number : 96 Question Id : 7532295965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gourd Tqya & Fafifed & § 5 uear wH fear mar ge
Options :

1. % hoUl



2. % 3
3. ¢ d
4. % g

Question Number : 97 Question Id : 7532295966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR o o ey H fFafeRad # & o1 7rerd &2
Options :

1. % 4yt ufdd & Hral DI YA BT 5|

2. v 41 o feama TET g

3. % o U SR U BT W AT B

4. % T SEHY SHaH BT TR TR HRaT |

Question Number : 98 Question Id : 7532295967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TouTY Iqyd H gavT Gaifie Aeayu I f6d urd 82
Options :

1. ¢ 3

2. % oy

3. % PH

4. % T

Question Number : 99 Question Id : 7532295968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 fea Wifde Sfitam &) smazaddr /9T T4 82
Options :
1. % gH
2. ¢ Y

3. % Wi



4. % gouTd

Question Number : 100 Question Id : 7532295969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR o fore Halfies Iuge e Fafefed 3 3 o g gadr 82
Options :

1. ® Qoo Iqyd &1 AR

2. % YR Sita T S@URoT

3. % IR HITI BT SHTYRUM

4, ¢ YR Yo BT SYROM

Question Id : 7532295964 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

TR Bl Ughx Taied U bl IR gIfod |

R TXpfa & gowed aqya § el &1 8t ugen wiF fear man g1 1aref o1 wifae sfiam ot siazgerdr A 8T i 39 gk I R @l
T8 39 UBR yH, 37, Waﬁ?n‘r&rs:raﬁr TR BT fAUM SR A weam &t ffg & forg o ot srafverd Aamr man g1 od
NIGEEIRIR: U Wahw‘r&rﬁm@reﬁr%laﬁé’ra's'uqﬁr%a‘mawﬁ&mﬁuqam$a1w< Iad Yol § gfguf ofiaa
e B oI Deied Bedl &1 4 S % STeRUI U4 oIagR &l U el & o 39 BTl &) sqad, Safid ud R oedl 81
1Y g 3P ot TR, Isad, Vid T 3MeHY Siia- T AR UK Bl g | 3id: 4 €1 Sfia &1 Qe SR 2|

Wﬂ@%ﬁﬂﬁ%ﬁﬂwmaﬁ&wwéwﬁ%ﬁm&mmﬁﬁmm e ST T WO & GRT YR
i B, S YA U107 SHT & Wifoheh 3R URGIfhdh dHedTul &1 I YRR SRdl 7, IaH, e, YeH dedhr I iR gy Gicd &
S e ey 1 TR BT 8, o TIUTE IR TIT 2, S 4 U IR H 0 BT WA A gU WU 3y I R i SR wara 1 ARt
IR HR1 8, S qdor fama @t fRref <ar ], 98t HRdg ov g1

Sub questions

Question Number : 96 Question Id : 7532295965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

geure agpd | fafoRad & @ ford ugan wiM fear mn ge



Options :
1. % H2UN
2. % 3
3. ¢ o
4. % Mg

Question Number : 97 Question Id : 7532295966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR yo & Feiy H Fafeiad 7 3 o 7ed g
Options :

1. % o i & Bl I FAd HAT 6|

2. ¢ o Faor fear T 8|

3. % T O 3R HoUN B U a1 B

4. % yH HGHY S BT AN YRR Bl 5 |

Question Number : 98 Question Id : 7532295967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TouTY Iqyd H gaRT 9aifid Agayu ®H f6d urd g2
Options :

1. 3

2. % o

3. % PhH

4. % e

Question Number : 99 Question Id : 7532295968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 {58 Wifae Sitam &1 Ta<gddr 7T 7T 82
Options :

1% yi



2. ¢ Y
3. % i
4. % TN

Question Number : 100 Question Id : 7532295969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¥ fore gatfe Iuged 2 Fafafea § S o1 8 gear g2
Options :

1. % QST Iqyd &1 AR

2. % YR Siid &1 IR

3. % URAlhd BTl B YR

4, ¢ YR 'YH B S@YURT

Disciplinel

Group Number : 6

Group Id : 753229310

Group Maximum Duration : 0

Group Minimum Duration : 0
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Edit Attended Group? : No
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Group Marks : 20

Is this Group for Examiner? : No
Disciplinel
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229375
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532295970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following atomic numbers does NOT belong to s-block element?
Options :

1. % 19

2.% 20

3. % 38

4. % 39

Question Number : 101 Question Id : 7532295970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # ¥ S1F-91 IRHTY] HHi®, s-sAld & dd 3 J&fdd Tal 82
Options :

1. %19

2. % 20

3. % 38

4.9 39

Question Number : 102 Question Id : 7532295971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In coordination compounds, the number of ligands is responsible for:
Options :

1. ¥ geometry

2. % melting point

3. # boiling point

4. % solubility

Question Number : 102 Question Id : 7532295971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iugegdsh D! &, gga (foris) ot Ten fufeiad 7 @ fead foru Iwrerd gidt 82
Options :

1. ¢ STt

2. ® TQHID

3. % HYIIDH

4. % faerg

Question Number : 103 Question Id : 7532295972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In drug discovery, the ‘Lead Compound’ is:

Options :

1. # lead containing compound

2. ¥ the starting point for drug design and development
3. % the final point for drug design and development

4. # anti-cancer drug

Question Number : 103 Question Id : 7532295972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST w0 H, g DS (Site HUSS) o1 Il 82

Options :



1. % 1 god At

2. ¢ 3N & F&ome SR faw o1 URfe fag
3. % INNfY & feome ik fawry @ sifaw fag
4. % HIR YR SNufe

Question Number : 104 Question Id : 7532295973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In column chromatography, we use as a stationary phase.
Options :

1. ¥ n-Hexane

2. % cotton

3. % charcoal

4. ¥ silica gel

Question Number : 104 Question Id : 7532295973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIqq qulafee ¥ A RR GRIF TN HFIIWIHA &
Options :

1. ® p-gRH

2. % HUY

3. % Thel BT DIl

4. + TafcrepT oid

Question Number : 105 Question Id : 7532295974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The monomer unit of natural rubber is:
Options :

1. # neoprene



2. ¥ isoprene
3. # methane
4. # vinyl chloride

Question Number : 105 Question Id : 7532295974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafied & @ ®H-3, Iefad TR &1 Thas SdTs 82
Options :

1. % (3T

2. ¥ JTSHH

3. % i

P ACEIEGCKINES]

Question Number : 106 Question Id : 7532295975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Another name of green chemistry is:
Options :

1. ¥ sustainable chemistry

2. % heterocyclic chemistry

3. # soil pollution

4. % water pollution

Question Number : 106 Question Id : 7532295975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRd TS &1 o= A4 Fafefad § 9 SH-91 82
Options :

1. ¢ YRUNY I

2. % {quH=h g D!



3. % TeT Ugyul
4. % S YGH0T

Question Number : 107 Question Id : 7532295976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gibbs Phase rule is:

Options :

1.¥F=C-P+2

2.% F=C+P-2

3. F=C+P+2

4, ® F=P-C+2

Question Number : 107 Question Id : 7532295976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 eH-a1 fisg Tawi &1 Fad 82
Options :

1.¥F=C-P+2

2.% F=C+P-2

3.#F=C+P+2

4, # F=P-C+2

Question Number : 108 Question Id : 7532295977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

n-propyl bromide on treating with alcoholic KOH produces:
Options :

1. # propanol

2. # propane

3. % propyne

4. ¥ propene



Question Number : 108 Question Id : 7532295977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UehgIagad KOH ¥ SUIR - WR n-MIUd SRS Hafaied & & o1 309 a1 82
Options :

1. % Yo

2. % U

3. % JUrsA

4. TIGH

Question Number : 109 Question Id : 7532295978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the strongest acid?
Options :

1. # Formic Acid

2. % Acetic Acid

3. % Trifluoroacetic Acid

4. % Trichloroacetic Acid

Question Number : 109 Question Id : 7532295978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffad 7 3 S s Faifeie Uee gl g2
Options :

1. % Biftic 3wt

2. % URfes s

3. ¢ TIREIRIURITCS 3

4. % TISHARICRITCH 3Tc



Question Number : 110 Question Id : 7532295979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are  number of carbon atoms present in Sesterterpenoids.
Options :

1. ¥ 25

2. % 15

3.% 10

4. % 20

Question Number : 110 Question Id : 7532295979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@I%CQEQLI“I"I\I‘QS\H (Sesterterpenoids) ﬁ_ﬁmﬁﬁmw@aaﬁ%l
Options :

1. ¥ 25

2. % 15

3. % 10

4. % 20

Question Number : 111 Question Id : 7532295980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cell reaction is spontaneous, if E° of the cell is:
Options :

1. * negative

2. * zero

3. ¥ positive

4. # infinite

Question Number : 111 Question Id : 7532295980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

DB HT E° FafaRad § I {69 UeR &1 8 R SIS AT Wd:3hd gidl 62
Options :

1. % BUMTHD

2. % Y

3. ¢ YdlHD

4. % 3d

Question Number : 112 Question Id : 7532295981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the unit for the rate constant of the first order reaction?
Options :

| % dm™ mol second’
R 4 second™
3 % dm™ mol second™

4 R dm™ mol second

Question Number : 112 Question Id : 7532295981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty Pife ot AfNfpar & foru = RRIS &1 aEe Ruia §  sH-a1g?

Options :
| % dm™ mol second™



, « second™
3 % dm™ mol second”

4 % dm™ mol second

Question Number : 113 Question Id : 7532295982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The order of half-life time of radioactive decay is:
Options :

1. # zero order

2. ¥ first order

3. % second order

4. % third order

Question Number : 113 Question Id : 7532295982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fearentf srmer & sref-shamara ot Hife o & § H-d gid 72
Options :

1. % LI PIC

2. ¢ TYH IS

3. % fgda wife

4. % gAg Pife

Question Number : 114 Question Id : 7532295983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following electronic transitions is related to lowest energy ?
Options :

lwﬁ%ﬂ'*

) ® n—sg*

Question Number : 114 Question Id : 7532295983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed # I -9 SadeHT ThHu ad Sl & Saiid 82
Options :

| %O —= ¢*

Question Number : 115 Question Id : 7532295984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following molecular orbitals has the highest energy?
Options :



19/0*2[]2
i H*sz
. I1+2p,

4 %80 2py

Question Number : 115 Question Id : 7532295984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 fe siuifas e § Sof Taifds gl 82
Options :

Lo o*2p,

2. % Tz,
3 % m+2p,

g% ° =By

Question Number : 116 Question Id : 7532295985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which metal is use in fairness (skin whitening) creams?



Options :

1. ¥ Mercury
2. % Lead

3. % Chromium
4. # Nickel

Question Number : 116 Question Id : 7532295985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O (91 1 TRT S aTet) shiA | Fafeiad 7 3 foer u1g o1 SudiT fasan §ire &2
Options :

1. ¢ URT

2. % g

3. % HIfEgH

4. % fybd

Question Number : 117 Question Id : 7532295986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements about Adrenaline (Epinephrine) is FALSE?
Options :

1. * Non-steroid hormone

2. % First hormone to be isolated in crystalline form

3. # It is active only when given by injection

4. ¥ It decreases blood pressure

Question Number : 117 Question Id : 7532295986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (URth) & SR § Fafifed 3 3 S1H-91 Y 7Tad 62

Options :



1. ® FA-XR(TS gHHA
2. % fopkedid =0 U Yy g aTel gga g
3. % g I $9IaH gRI fGU S W &1 |ichd g1l &

4. + Gg qIdIY HH Hdl &

Question Number : 118 Question Id : 7532295987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the effect of dilution on equivalent conductivity?
Options :

1. # First increases then decreases

2. ¥ Only increases

3. % Only decreases

4. ® First decreases then increases

Question Number : 118 Question Id : 7532295987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JAG ITAH T TR TIHRU B FERIRGd § T SHIF-91 741G gidT 82
Options :

1. % Ugd gedl g fhr gedr gl

2. ¢ HId dgdT g

3. % $Had gedl g

4. % Ugd vedl g R sgar g

Question Number : 119 Question Id : 7532295988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Time-dependent differential equations are those in which the initial conditions are known and one wants to know how they evolve forward in
time. Which of the following is NOT included in it?

Options :

1. #® Chemical Reactions (evolution of concentrations with time) ™



2. ® (Classical dynamics (evolution of atomic positions with time) ™
3. # Time-dependent Quantum dynamics (atoms under lasers)

4. ¥ Time-independent Quantum dynamics (atoms under lasers)

Question Number : 119 Question Id : 7532295988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THI- 3T 3/ad JHIHRUN A 8l & foH IR fRufaai 1d 8kt 8 3R I8 W94 &1 Uar fosar Sirdn & f5 3 99g & 91y 3 ford IR
e Rd g ¢ Fufifed § @ oH-91, sud afefid 98 &2

Options :

1. % Igrafae SfNfrant (@HT & 1Y Aigarsii &1 faerg)m™

2. % URURS Tfdd! (FHT & 1Y WRHTg® Rl o1 faemra)ym
3. % qHY 3MfYd HicH Tid®! (AR & 3fH T=Am)

4. GOY Y WA HicH bt (o & L TRAT)

Question Number : 120 Question Id : 7532295989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as frozen smoke?
Options :

1. # Solid CO,

2. ¥ Silica aerogel

3. # Red Phosphorus
4. % PAN

Question Number : 120 Question Id : 7532295989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoaRed & 3 fd o0 gU 4t & &9 § ST il 82
Options :

1. % 319 CO,




2. ¢ TafereT TRIGA
3. % T BIhRY
4. % PAN
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Correct Marks : 1 Wrong Marks : 0.25
Cobalt is found as a central metal atom in:
Options :

1. # cellulose

2. % chlorophyll

3. ® vitamin By

4. ¥ vitamin B,

Question Number : 121 Question Id : 7532295990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRea o § feud, SidTee T Hg YT TRATY & FU H T SfTd 82
Options :

1. % Fege

2. % FARIb

3. % fqeTfiA By

4. ¢ facieF By,

Question Number : 122 Question Id : 7532295991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The end product of Skraup’s synthesis is
Options :

1. % pyridine

2. % quinolone

3. # isoquinoline

4. % piperidine

Question Number : 122 Question Id : 7532295991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



THI3U P YA 67 3ifaH IS BT g |
Options :

1. % fofkeH

2. ¢ foAaE

3. % 3o

4. % grsURSH

Question Number : 123 Question Id : 7532295992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the inversion of sucrose in the catalytic presence of dilute acid, the order of reaction is:
Options :

1.¥ 1

2.%0

3.%3

4. % 2

Question Number : 123 Question Id : 7532295992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T B ISR IUTRUTA T YISl & SGeh 0T B SR, HHfeha b1 o Fgffad §  SH-ar gl 2
Options :

1.¥ 1

2.%0

3.% 3

4, % 2

Question Number : 124 Question Id : 7532295993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Reissert synthesis, the final product is:
Options :



1. ®¥ quinoline
2. % furan
3. % indole

4. # trans-indigo

Question Number : 124 Question Id : 7532295993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ Ao H, sifad Iarg Fafifed § 9 $H-91 §7d1 82
Options :

1. % f@IfeH

2. % RRM

3. ¥ 8Id

4. % gigEfem

Question Number : 125 Question Id : 7532295994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Bhopal gas tragedy was caused due to the leakage of:
Options :

| % CIE (g)

) % Mercury
;. » MIC ()

4 ® S0, (g}



Question Number : 125 Question Id : 7532295994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hiurer % el fRafafed & @ feras Raa & srRorgs 4

Options :

| % CIE (g)

- Mercury

5« MIC (y)

4. w® SOE (g}

Question Number : 126 Question Id : 7532295995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct about the chemical composition of a normal man weighing 65 kg?
Options :

1. # Carbohydrates - 6.1%, Proteins - 13.8%. Lipids - 17%, Water - 61.6%, Minerals - 1.5%

2. ¥ Carbohydrates - 1.5%, Proteins - 17.0%. Lipids - 13.8%, Water - 61.6%, Minerals - 6.1%

3. % Carbohydrates - 17%, Proteins - 1.5%. Lipids - 6.1%, Water - 61.6%, Minerals - 13.8%

4. % Carbohydrates - 13.8%, Proteins - 1.5%. Lipids - 6.1%, Water - 61.6%, Minerals -17%

Question Number : 126 Question Id : 7532295995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

65 kg TS AT YT G Bt IS a1 & IR A Fafafead § o1 a1 fawe w8t 32

Options :




1. ® PERISST - 6.1%, U - 13.8%, AT - 17%, T - 61.6%, T - 1.5%
2. ¥ BIERISSC - 1.5%, WM - 17.0%, S - 13.8%, S - 61.6%, TS - 6.1%
3. % BIAGIZSC - 17%, T - 1.5%, fAMUE - 6.1%, 54 - 61.6%, WS - 13.8%
4. % PERIZST - 13.8%, U - 1.5%, fAMUS - 6.1%, T - 61.6%, TS -17%

Question Number : 127 Question Id : 7532295996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The property of water that is NOT explained by its polarity is:
Options :

1. ¢ solvent for hydrophobic compounds

2. # the high specific heat

3. # ahigh heat of vaporisation

4. % strong surface tension

Question Number : 127 Question Id : 7532295996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 1 98 T[0T b1 1 8 oI 3! ¢adT & gRT el THSIT 11 82
Options :

1. ¢ ERSIBIfgE At & fore faamras

2. % I ARy ST

3. % IR0l Bl o SHEAT

4. % U gy d-1d

Question Number : 128 Question Id : 7532295997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following features of elements make them appropriate for using them to synthesise molecules in living systems?
Options :

1. # Hydrophilic and hydrophobic



2. # Covalent and Hydrogen bonding
3. ¥ Water soluble and ionic
4. ¥ Suitable and available

Question Number : 128 Question Id : 7532295997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dw@l &t fafaRad & 3 & I o= 3 Siifad yonfert & Sropsii o1 T=afid $3- & o SuaiT e+ 8 Sugad a1 62
Options :

1. % JeRTT SR sraefia

2. % YEUUINIS 3R GG §eH

3. % Sa-facy ok smafie

4. ¢ JUYad 3R SUAK

Question Number : 129 Question Id : 7532295998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct about colligative properties?
Options :

1. ® They depend only on the number of particles of the solute in the solution.

2. ¥ They also depend on both the nature and the identity of the solute.

3. # They help us in determining the relative molecular mass of a non-volatile solute.

4. ® Tt is the relative lowering of vapour pressure which is a colligative property and not the lowering of vapour pressure.

Question Number : 129 Question Id : 7532295998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o @ &1 1 By SrqEeT Uiy & TR H Il el 82
Options :

1. % 3 Fad faaa § fae & Hoif ot e W R #d g
2. ¢ 3 fqoa &1 UPid 3R UgaM aHl R W MR A |




3. % g ARt faaa & AUe surfad goade &1 MUTRa # H§ gARI A Hd ol
4. % g 9 g BT ATUTEH U I HH ST & Sl SEReT Ture g, 7 fob are g1 &1 HH g1 5|

Question Number : 130 Question Id : 7532295999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Physical adsorption is NOT favoured in which of the following conditions?
Options :

1. ¥ Negative AH

2. % Low temperature

3. ¥ High temperature

4. ® Increased pressure

Question Number : 130 Question Id : 7532295999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafea # 3 frg fRufa & Wifde siftrioor sga T8t 72
Options :

1. % BUMHD AH

2. % g qAEE

3. ¢ 3= dUHA

4. % gifqqE

Question Number : 131 Question Id : 7532296000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct about conjugate acid-base pairs?

Options :

1. ® A weaker acid has a stronger conjugate base, whereas a stronger acid has a weaker conjugate base.
2. ¥ A stronger acid has a stronger conjugate base, whereas a weaker acid has a weaker conjugate base.

3. # The product of acid- and base-ionisation constants in the aqueous solutions equals the ionic product constant of water.



4. ® Anions of the weak acids produce the conjugate acid and hydroxide ion, whereas the cations of the weak base produce conjugate base and
hydronium ion on reaction with water.

Question Number : 131 Question Id : 7532296000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST-&Rep gl & R H FEfoiad & ¥ &9 91 oy I8t T8 32

Options :

1. % goid 3wl B Uael G &R BIdT B, STfe U 3t § gl Gt &Reb Biell B |

2. ¢ U 3 H Uad GG &R i 8, ST gadl 3 Bl gad GG &R Bidl ¢ |

3. % SO U B 3T 3R &RE- TR0 RIS BT UHEA ofd & T TOHH RURIH & SRI6R gidl g
4, % IS 3! P BUTIT TH 3T 3R TSRS T ITF FRd §, ST b gadl &R & YT

Question Number : 132 Question Id : 7532296001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The coordination compound K,[Cu(CN)4] has a coordinate covalent bond between which of the following?
Options :

| % K*andC

) Cu? and CN-

3 % K+ and [Cu(CN)4]>-

4 % K+and N

Question Number : 132 Question Id : 7532296001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a9 TR K,[Cu(CN),] & Fofeied & § feas o g Jegdieis se 8id 82




Options :

L« KERC

, v Cu” 3T CN
.« K" 3R [Cu(CN)I™

L K 3RN

Question Number : 133 Question Id : 7532296002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C3 axis of symmetry of cyclohexane is due to which of the following conformations?
Options :

1. % Stew

2. % twist boat

3. ¥ Chair

4. ¥ Envelope

Question Number : 133 Question Id : 7532296002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIsadigdt &1 AU &1 C3 3¢ Fufifad # I f5g w1 & sRu gl g2

Options :



4. % T9dY

Question Number : 134 Question Id : 7532296003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following reagents is the source of nitrogen in the Gabriel synthesis of amines?
Options :

1. ¥ Potassium phthalimide

2. % Sodium nitrite

3. % Potassium cyanide

4. % Sodium azide

Question Number : 134 Question Id : 7532296003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed 3 3 oF a1 sifeHe THH & Afsad IRavor & ATScior &1 9id 87
Options :

1. ¥ UICTRIgH RIS S

2. % QST AgerRe

3. % ORI ggss

4. % QIfSTA TA5S

Question Number : 135 Question Id : 7532296004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A deficiency in which of the following vitamins will lead to a functional folate deficiency?
Options :

1. ¥ By,

2. # Thiamine

3. % Niacin

4. # Riboflavin



Question Number : 135 Question Id : 7532296004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead & & fob faeTiae 1 et 4 fohamiiel hidde sieddr g1 S
Options :

1. ¥ By,

2. % RgmrEA

3. % farie

4. % I

Question Number : 136 Question Id : 7532296005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The chromatographic technique that can be used for the analysis of biological specificity in enzyme-substrate is:
Options :

1. # ion exchange chromatography

2. % affinity chromatography

3. # gel filtration

4. # thin layer chromatography

Question Number : 136 Question Id : 7532296005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % O e (oid fthegR)

4. % T U guierad (O Ok IR U




Question Number : 137 Question Id : 7532296006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct number of enantiomer(s) in glyceraldehyde?
Options :

1. # One

2. ¥ Two

3. % Three

4. ¥ Four

Question Number : 137 Question Id : 7532296006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea § 9 oF ferRifcsegs & ufafda/ufafdst (@=isimR) o 98 Tem g2
Options :

1. % TUh

2.3

3. % diF

4, % IR

Question Number : 138 Question Id : 7532296007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following bonds links ribose and purines in a nucleotide?
Options :

1. # Phosphodiester bond

2. # Peptide bond

3. % Glycosidic bond

4. ¥ Hydrogen bond

Question Number : 138 Question Id : 7532296007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefed o @ & I ey Yfdaaiegs § e R T & Sigdl |2
Options :

1. % hIEhITSTRR Y

2. % UPISS 36y

3. ¢ TASHINSH Y

4. % GISSIoM 3f1aY

Question Number : 139 Question Id : 7532296008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cytochromes belong to the family of:
Options :

1. # Nucleoproteins

2. % Lipoproteins

3. % Glycoproteins

4. ¥ Metalloproteins

Question Number : 139 Question Id : 7532296008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qrgarh Y oy TR ¥ Tefdd |2
Options :

1. ® YfRmaIgre

2. % ARUMIEH

3. % TASHIUICH

4. ¢ HQAIUIEH

Question Number : 140 Question Id : 7532296009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The class of enzymes to which chymotrypsin belongs as per Enzyme Commission is:
Options :

1. # Transferases

2. % Hydrolases

3. # Ligases

4. % Lyases

Question Number : 140 Question Id : 7532296009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ToTSH &1 7 8, R SIg IR USTTgH HHIRH & 39R Isfid g 31
Options :
1. % TRAHS
2. ¥ BRI
3. % foig

4. % Y
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Question Number : 141 Question Id : 7532296010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which analyte’s elevated blood level is used as a sensitive indicator of impaired kidney function?
Options :

1. ® Uric acid

2. % Glucose

3. ® Urea nitrogen

4. ¥ Creatinine

Question Number : 141 Question Id : 7532296010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for g fazae &1 3a1 Yad TR, SVl 9o BT (FUTS (el Hhaw) & JdgaRd Yhdd & &g & IUFNT [T SIraT 82
Options :

1. % g 3T

2. % B

3. % gRAT ARSI

4. v TpuRef




Question Number : 142 Question Id : 7532296011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A high-protein low-carbohydrate diet has, as its biochemical basis, the potential to lead to weight loss due to which of the following?
Options :

1. # Allosteric inhibition of fatty acid synthesis

2. ® Increased glucagon release

3. % Minimal insulin release

4. % Reduced cortisol release

Question Number : 142 Question Id : 7532296011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% SO Y- Fefggsc ard 3ER H, 5id IMAA® YR & ¥4 H, Fufeiead & I fad SR aoH g &1 &l gidl 82
Options :

1. % JURE e YR o] YR IRep Taa-

2. % gifd Tq@HIH e

3. ¢ A g e

4. % TYHd DIcAd e

Question Number : 143 Question Id : 7532296012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct about glycogenin?

Options :

1. #® It is involved in both glycogenesis and glycogenolysis.
2. ¥ It is found in both liver and muscles.

3. # It synthesises UDP-glucose units.

4. ® It requires pyridoxal phosphate as a cofactor.

Question Number : 143 Question Id : 7532296012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ARSI & IR & FEfiad & I $F wHuT a8t 82

Options :

1. % T8 TSP ORI 3R TR oI GIH1 § JMAd g

2. v T8 T AR ARG <=1 H urar ST B

3. % Ug UDP-TID ISl SH13! BT YWl HRdT 7 |

4. % TY EUIH & ¥U H UEREIad BIehe & AagHhdl gl |

Question Number : 144 Question Id : 7532296013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Muscle contraction is caused by the binding of which of the following proteins with calcium in a smooth muscle?
Options :

1. ¥ Calmodulin

2. # Tropomyosin

3. % Myosin

4. ® Actin

Question Number : 144 Question Id : 7532296013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AUl § G afafed 5 @ fod Uida & sRRET Ui & Sickrem & 91y §4= & SRUT gl o2
Options :

1. ¢ HaHIgleH

2. % UM

3. % AR

4. % Tl

Question Number : 145 Question Id : 7532296014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of mutations is responsible for sickle cell anaemia?
Options :

1. * Nonsense

2. # Insertion

3. % Deletion

4. ¥ Missense

Question Number : 145 Question Id : 7532296014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad & 9 SF W1 IdaRad- aF SR Yaqsreddl (Riea 9a THifern) & fae foiier gt g7
Options :

1. % 3FSF ([

2. % glafy @TaRH)

3. % fqdo (FSeem)

4. ¢ IOT& ()

Question Number : 146 Question Id : 7532296015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the minimum number of tRNAs required to bind to them for the given serine codons?

UCU, UCC, UCA, UCG, AGU, AGC
Options :

1. # One

2. % Two

3. ¥ Three

4. # Four

Question Number : 146 Question Id : 7532296015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

f3T 7T T PIe & foIU I a1 T & Y 3M1aRGH (RNA Pt A T fbait 82

UCU, UCC, UCA, UCG, AGU, AGC
Options :

1. # Uh

2. % Gl

3.9

4, % IR

Question Number : 147 Question Id : 7532296016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency with which a restriction enzyme that recognises a six-base sequence will cut a large piece of DNA will be:
Options :

1. # once every 64 bases

2. # once every 256 bases

3. % once every 1,024 bases

4. ¥ once every 4,096 bases

Question Number : 147 Question Id : 7532296016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 JATgRT I, o R ufdees T8 ST B8-4Re 3ehH ! UgdMdl &, DNA & ds TS Pl HIC oI |
Options :

1. % B 64 &RD H TP aR

2. ¥ §256 &RPb U U aR

3. % 81,024 &R& U Uh dR

4. ¥ 4,096 &R T Th IR

Question Number : 148 Question Id : 7532296017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following media is most appropriate for culturing of obligate anaerobes?
Options :

1. # Complex media

2. ¥ Reducing media

3. % Selective media

4. % Enriched media

Question Number : 148 Question Id : 7532296017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaffed # @ &1 a1 wrew sifdsed srargsia & T & e ged Iuged 82
Options :

1. % iy A1y (hiciay Hifegan)

2. ¢ UARID HIegH (YSIRIT Hifsan)

3. % ggATHS areH (Ricifaeg Hifsan

4. % gafda AremH (3ARa Hitsan

Question Number : 149 Question Id : 7532296018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following hormones is NOT produced during steroid biotransformation?
Options :

1. ¥ Glucagon

2. % Cortisone

3. % Hydrocortisone

4. % Corticosterone

Question Number : 149 Question Id : 7532296018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WRITE 9Id UG (FAICIBIARH) & GRM HEfiRad & I ®IF 91 g SO To! aidl 82




Options :

1. ¢ TIHNH

2. % HIfeAH

3. % gISSimlicd
4. ® PICHRRIA

Question Number : 150 Question Id : 7532296019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The alkylation and cross-linking of DNA is the mechanism of which of the following immunosuppressive drugs?
Options :

1. # Sirolimus

2. ¥ Cyclophosphamide

3. # Prednisone

4. ¥ Mizoribine

Question Number : 150 Question Id : 7532296019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DNA &1 &R0 3R fade s (ig-fifdr) Fafefed & 3 fog ufaremerm Rt gar &1 d3 82
Options :

1. % RRifermy

2. ¢ RTABBHES

3. ® gsfAaH

4. % TARNRfeA

Question Number : 151 Question Id : 7532296020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The DNA double helix is stabilised by:
Options :



1. # covalent bonds and hydrogen bonds
2. ¥ hydrogen bonds and hydrophobic interactions
3. % hydrophobic interactions and electrostatic repulsion

4. ® electrostatic repulsion and covalent bonds

Question Number : 151 Question Id : 7532296020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o 9 fdd gRTDNA S99 gfaad RR fasar S &:

Options :

1. % TS MY 3R BT Sor & gRI

2. ¢ BIZSIoM TS 3R eTZSIBIad id:fohar gRT

3. % gIESIhIa® 3fa:fhar 3R fRR dggd ufdewyt (SaaeRefed RuerrH) grI
4. % RR Iggd UldHyU (SAdeReTed RUeRM) 3R Tgadrel 31ae gRI

Question Number : 152 Question Id : 7532296021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bundle sheath cells are seen in:

Options :

1. #® open vascular bundles in stems

2. ® closed vascular bundles in roots

3. ¥ certain types of leaves

4. % fibrous tissue of fruit rinds

Question Number : 152 Question Id : 7532296021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad o 3 fead qarse oI @sd i) 35t St 82

Options :

1. % o H gol Gagd gor H



2. % TSI H &G Ydgd qa H
3. v $3 [ARIY YR & ufdl o
4. % Thdll & BId & WER SHdd! 4

Question Number : 153 Question Id : 7532296022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When describing the phenotypes produced by sex-influenced genes,
Options :

1. # a pattern of crisscross inheritance of these autosomal traits is evident
2. ¥ whether the gene is dominant or recessive depends on gender of the person
3. # we see that the proteins produced by such genes are required for the metabolism of sex hormones

4. % it is clear that they are linked to expression of secondary sexual characters in human beings

Question Number : 153 Question Id : 7532296022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferT-guifad Si=a grr fAfid Bty o1 auiH &ra IHg |

Options :

1. % 2 G e (3iferama) & fauid dmifa &1 ufey Udhe gl §

2. ¢ S gHTEt § 1 3myTdt, I8 afdd & e R Ak war g

3. % gH WA g fob TX ofiF gy Scfed WA foivt 816 & s & e sia<as @

4. % gg WY g b 9 Aa T 07 i Aef0T (A el Tagsid ddex) &1 ifiaafad 3 9IS gU 8

Question Number : 154 Question Id : 7532296023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the TRUE statement regarding replication of a short segment of linear dsDNA.
Options :

1. ® It requires one primer for the leading strand and one primer for the lagging strand.

2. % It requires many primers for the leading strand and one primer for the lagging strand.



3. % It requires many primers for the leading strand and many primers for the lagging strand.

4. ¥ It requires one primer for the leading strand and many primers for the lagging strand.

Question Number : 154 Question Id : 7532296023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GD dsDNA &b Y TS 1 Ufapid b Geit) H e HY BI g bR |

Options :

1. % T U IRD & (oY Th UTSIR 3R UY TS[h & [ T UTSTR B! SHTIRISHl aidil ¢ |
2. % T PN IND & 0T B3 USHR 3R UY IS & (oY T TIZFR P HTIRGHl gl g |
3. % 3 ISP & foIU s UISHR 3R U I & (oY B UIIFR BT MIRIha1 81l 8|
4. v T AT ISD & [0 TH WIZHR 3R GY I[P b [o1T g UTSHR B! HTaAHAT gIall ¢ |

Question Number : 155 Question Id : 7532296024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the leaf, starch is formed:

Options :

1. # in the cytoplasm of the chloroplast-containing cell

2. # between the outer and inner membranes of a chloroplast
3. % in the stroma of the chloroplast

4. ® in the cavity of a thylakoid of the chloroplast

Question Number : 155 Question Id : 7532296024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e Fgfoied & § fog # a9a1 82

Options :

1. % gRd ddh (FRIRIEIRS)-Jod DIfRAhT & HIRIbT S (T Iwred) §
2. % BRI d9% (FRIRT) Bt a1l 3R 3R fifeaal & S d

3. ¢ gRd da® (RIRIWRE) & LT o




4. % gRd 9% (FEARICIRE) b UTIATHIZS Bt T A

Question Number : 156 Question Id : 7532296025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Look at the following two categories of properties of monosaccharides, and identify the TRUE statement.

Property A: Hexose and Pentose
Property B: Aldose and Ketose

Options :

1. # Dextrose and fructose do not differ in either Property A or Property B.

2. ¥ Dextrose and fructose do not differ in Property A, but differ in Property B.
3. % Dextrose and fructose differ in Property A, but do not differ in Property B.
4. % Dextrose and fructose differ in both Property A and Property B.

Question Number : 156 Question Id : 7532296025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AFNRBRIES & uryH (Uil o fgfafad g 4T 3 ok 9 &Y &1 UgaH &1 |

T A: gt 3R Uels

e B: TeeiSl 3R dhelol

Options :

1. % SHICIST 3R Farerol A df oI A 7 81 T[ured B H iR Hvd g

2. ¢ JFACIS 3R Faero ToreH A T SR g Id &, fooeg ured B H SfeR vl B
3. % SHCIST 1R Paerol et A T 3R R 8, foeg et B o 3R 7t vl B
4. % ST 3R Paas TUeH A 3R Qe B 1 H 3R d o

Question Number : 157 Question Id : 7532296026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The experimental data collected by a scientist can be deposited in a/an database.
Options :



1. ¥ archival
2. # knowledge
3. % secondary

4. ¥ experimental

Question Number : 157 Question Id : 7532296026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forat MNP GRT TS WS ST H!  Srey | oA fohal ST Jhell 3|
Options :

1. ¢ ST (3 igaaT)

2. % JH (Hlcio)

3. # fgdias @dhed)

4. % YN (TRTURHea)

Question Number : 158 Question Id : 7532296027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dietician was studying the effect of a low-calorie diet on a group of 15 teenagers. She measured their weights before and after the diet
treatment. Which test should she use to analyse her results?

Options :

1. ¥ A paired t-test

2. ®% A chi-square test

3. % A one-way ANOVA test

4. ¥ A pooled variance t-test

Question Number : 158 Question Id : 7532296027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TER fARNT 15 fHiRl & THE W 3eU-HaR! alal 3MER & THIE BT 3eqgd o et | 9 3eR Rifere I+ fHU oM & Ugd 3R
a1¢ W g9 HR BT AU Bl & | 3T TR0 &7 fIzayur 4 & ol I8 ford URlequr &7 SUaiT -1 Tnfge?

Options :




1.¥ WEQI—WHUT (paired t-test)

2. % T-IHTIR URI&T (chi-square test)

3. % T RWI-31d] TR0 (one-way ANOVA test)
4. % IR TRUT 1-TRIequm (pooled variance t-test)

Question Number : 159 Question Id : 7532296028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If two plants, each homozygous for two unlinked traits, are allowed to cross-pollinate, what percentage of the progeny will be identical to the
parental genotypes for these two traits?

Options :
1. ¥ 0%
2. % Around 25%
3. % Around 50%
4. *® Around 75%

Question Number : 159 Question Id : 7532296028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe a1 Y, & 3l fpy 7Y wferun & e U , % TRURNUT (19 Ulfere) B SAfd g, a1 37 a1 &l & foIe 9=t &1
fob a1 Ufer=Td gal JoSi- (GRed SHHICgY) & JHe] 82

Options :

1. ¥ 0%

2. ® T 25%

3. ® T 50%

4. ® TIMYHIT 75%

Question Number : 160 Question Id : 7532296029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Diazotrophic organisms that are often used as biofertilizers are characterised by:
Options :



1. # the ability to form root nodules on leguminous plants
2. # their autotrophic photosynthetic mode of nutrition
3. ¥ the presence of genes for nitrogenase in their genome

4. % the ability to grow in anaerobic cultures at acidic pH

Question Number : 160 Question Id : 7532296029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STSAICIh Sitd, BT SUIRT UT: 5id Iakep & U H Bidl 6, 37! fa=ivar fHafafed & 9 o1 di g2
Options :

1. % BoleR (@RTHEAT) TY IR g U TR 64 &1 &

2. % oI WIS TehTRI TR fafes o7 oy

3. ¢ 3D ST T Aoy o fog S ol Iufyfa

4. % 3T pH R RGP Heer H [aHRIT B B &
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Question Number : 161 Question Id : 7532296030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tea from the bark of the willow tree is used to treat fevers. The medicinal component salicilin is used to manufacture the common drug:
Options :

1. * Amoxicillin

2. % Atropine

3. * Amphetamine

4. ¥ Aspirin

Question Number : 161 Question Id : 7532296030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T91 g&f (Faeh &) & BT Pt 19 o1 STANT FWUR & TS & fore foban oiran g | FAfifad § § 1 I 9= gar & 91 & forg, siiwdig
ged YR o1 SUTNT faT SITdl g2

Options :

1. % THifRIRfer
2. % gelftq

3. % TheA

4.« TRURA

Question Number : 162 Question Id : 7532296031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a leaf extract is subjected to paper chromatography, the pigments separate on basis of their:
Options :

1. # molecular weight

2. % charge per unit mass

3. ¢ solubility in the mobile phase

4. ® cohesion with the stationary phase

Question Number : 162 Question Id : 7532296031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oe ofith TR ae UWR ShIACIUTE! 1 fawd 81, df 371% aufer (formie) fafifad & frges smyR W 3w 81 o 82
Options :

1. % MU YR & SMYR IR

2. % 3O (T Ul Thidh G (e H)

3. ¢ TIfaRite uraRiT ¥ faeraan

4. % TRR YR & 1Y Ffad

Question Number : 163 Question Id : 7532296032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Some fungi are called ‘imperfect’ because:
Options :

1. # they lack true nuclei

2. % they reproduce only asexually

3. # they have cellulosic cell walls

4. ® they lack multicellular structures

Question Number : 163 Question Id : 7532296032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Options :

1. % ST 9 $u (S gfaerars) &1 HHl gt &
2. ¢ Y Had 3D U I Ul Hd &

3. % 390 g e ifa it 8

4. % T IEHIRBT Y131 B HHI Bl &

Question Number : 164 Question Id : 7532296033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pheromones are found in various species of invertebrates (like insects) and vertebrates (like mammals). The common feature of these substances
is that they are all:

Options :

1. ¢ volatile compounds

2. % water soluble molecules
3. # hydrophobic complexes

4. ® homopolymeric conjugates

Question Number : 164 Question Id : 7532296033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

tﬁl?ﬂﬁ &rqga’%ﬁ(@@r%ﬁa 3R gyt (o fo Taur) ot fafid geifadl & Oe o1 § 1 39 BRIEH &) 9 faRvdr ag & for 3
g

Options :

1. ¢ IR TS (@R d FHSS)
2. % Sd § facasite 3y
3. % AR TR (TSRS IHINS Pl

4. % GHUAERID HIgie

Question Number : 165 Question Id : 7532296034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given diagram depicting a typical human neuron, Nodes of Ranvier are found in:

A.
N

(]

Laad

Options :

1. % region 1
2. % region 2
3. ¥ region 3
4. % region 4

Question Number : 165 Question Id : 7532296034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fea ram Yanfert fafRiy wra <R gifar 8, AW gy Fafafea & 3 foew o urar S g2

Options :
1. % &1
2. % 872
3.9 843
4. % &7 4

Question Number : 166 Question Id : 7532296035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ti plasmids are used to introduce cloned genes into plant cells. In the transformed plant cell, the ‘insert’ introduced via a Ti plasmid exists as a:
Options :

1. #® small independent linear chromosome (like a YAC)

2. ¥ segment of integrated DNA (like a provirus)

3. # multi-copy circular plasmid (extra-chromosomal DNA)

4. # single-copy cytoplasmic plasmid (extranuclear DNA)

Question Number : 166 Question Id : 7532296035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gl SfiF @ UTeY BIRIHTSH H THIAY B & foT Ti WIfRTS &1 YA {1 JIdl | | TUIdRd ey SR § Ti WIS & [Ty
JHIY «3fddeH (39¢) frg =0 H Hivlg gid1 82

Options :

1. # I PR 10 W IW A ORE (O fh YAC)

2. ¥ THIPHd ST & TS (oY T urframy)

3. % §g-UfafcilU guieR wiieds (SifdiRed TURE SIT)

4. % Uha-fdfcy e d WIe (TRSIfaR SIT-)

Question Number : 167 Question Id : 7532296036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is FALSE about malaria?

Options :

1. % The malarial parasite infects RBC in humans and mosquitoes.

2. # The parasite enters a human body through the saliva of a mosquito.
3. # The malarial parasite infects liver cells and RBC in humans.

4. # The malarial parasite infects neither liver cells nor RBC in mosquitoes.

Question Number : 167 Question Id : 7532296036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AR & ey § FEfiied 3 4 319 91 $U7 3/ 67

Options :

1. ¢ A9 3R g5t H AR &7 WReiid! SRR &1 ehfird B g

2. % TR A IRR T AR B AR & HIegH I YA Hal g

3. % QNG T URSid! AT B TdHd BIRABIS 3R SRS B Wehid BT 5 |

4. % AN &1 TRoE! A df THd DI HIRABISH DI, 7 8 HBRI H RBC B Ah{Hd Hd & |

Question Number : 168 Question Id : 7532296037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given diagram shows a lymph node. From which locations does lymph enter the lymph node?

Options :

1. # As shown in arrow A.

2. ® As shown in arrow C.

3. % As shown in arrows A and B.

4. % As shown in arrows A, B and C.

Question Number : 168 Question Id : 7532296037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e m o Rfier-ud (o e ) <wifar |1 for w3 aiteT, oiftest ud & wowr Rl 82




Lymph node - forTth S, medulla - ﬁg?ﬂ, cortex - depC
Options :

1. % ST b dR A ¥ i T 3

2. % ST foh R ¢ ® fe@mr man g

3. ¢ ST foh AR A IR B # fe@mn T g

4. % SETfH AR A, B 3R C ¥ lG@r@r w3

Question Number : 169 Question Id : 7532296038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is cause of type I diabetes?

Options :

1. ® Inability of liver cells to take up glucose when needed

2. ® QOveractivity of liver cells leading to continuous release of glucose
3. # Defects in the insulin signalling pathway leading to hyperglycaemia
4. ¥ Impaired ability of the body to synthesise insulin

Question Number : 169 Question Id : 7532296038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifed o | UBR | AYHE BT SR B 182

Options :

1. % IIYHAT B TR Ihd DIRADT GRT DI TGV B3 T & gl

2. % THd DIRNDIS BT SARIS FlhadT & HRUI AR TGS FMfAd gId 38T &




3. % Sfe Hobd AN H WRTET o HRUT STSURIAA T
4. ¢ SYOH P AT B o forT IRR DI emar H effa

Question Number : 170 Question Id : 7532296039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To test the serum of people suspected to be infected with HIV for the presence of antibodies, we need to do a/an:
Options :

1. # direct ELISA test

2. ¥ indirect ELISA test

3. % sandwich ELISA test

4. ® competitive ELISA test

Question Number : 170 Question Id : 7532296039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N UfTHRS Bt JURUTA & 1T, Ta3sdl ¥ Aohfird g1F aret i ARl & WRA BT oiid & forg, g8 Fafoied & @ &1 &= &t
3{TILTHT Bt 82

Options :

1. % Y& (STGC) ELISA TRIE0T Bl

2. ¢ MY (3TSIGT) ELISA URI&0 Hi

3. % Jsfag ELISA Tefur o1

4. % gfaagelf (@rmedia) ELISA U1 &Y

Question Number : 171 Question Id : 7532296040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In addition to a queen bee, a typical bee hive has:
Options :

1. * hundreds of drones and hundreds of workers
2. % hundreds of drones and thousands of workers

3. # dozens of drones and hundreds of workers



4. % dozens of drones and thousands of workers

Question Number : 171 Question Id : 7532296040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AYHRIT & 3rarar, ARy ayHed & g # Fofaied § S | g g?

Options :

1. % Jpel R AYAE! R AH S| HHAR]
2. ¢ YPhgl R AYHR 3R FIRI HHART
3. % oMl R AYHR! R AFH el HHAR]
4. % GOl R AYARIT 3R GOIR| HHART

Question Number : 172 Question Id : 7532296041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Normal human blood was collected and immediately centrifuged. Which of the following test tubes shows what a normal human blood sample
would look like?

.El'_f.!'}{".l"i?ﬁfﬂ'iilf

bl
A B C D

Options :

1. # Tube A
2. ¥ Tube B
3. % Tube C
4. % Tube D



Question Number : 172 Question Id : 7532296041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AFd 3ad T [T T 9UT 39 qid ST a foar | FHgfied & 9 &1F 9 ¢ ogd g8 feurd! ¢ for 9 #a 3ad &1
T ford g 9 fgamm

Supernatant

" el
A B C D

Supernatant - ﬁCRﬁ%'_C', Pellet - Uale
Options :

|. % E A

2.V I B

3. 8 ®FC

4, ¥ RED

Question Number : 173 Question Id : 7532296042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Of the following, the only correct combination of vector, pathogen and disease is:
Options :

1. ® Mosquito vector — Protozoan pathogen — Yellow fever

2. % Flea vector — Viral pathogen — Japanese encephalitis

3. # Lice vector — Viral pathogen — Typhus fever

4. ¥ Tick vector — Bacterial pathogen — Lyme disease

Question Number : 173 Question Id : 7532296042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifed & 9 &1 91 fawed ATargs (dae), TS R I H Ifd Yo B aildl 2
Options :

1. % TR INTATEH (JFe) — TN UYoH — Iidl R @d BidR)

2. % UG INTATES (Tl daeR) — TRRE UYUSH - S T e

3. % TI3Y daeR - GRRE UUSH - TEHY §UR

4. ¢ fep Jaex - ST VUSH - ATSH I

Question Number : 174 Question Id : 7532296043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the TRUE statement regarding unsaturated fatty acids synthesised by eukaryotes.
Options :

1. % The double bonds can only be cis-bonds that are three carbon atoms apart.

2. % The double bonds can be cis-bonds or trans-bonds that are two or three carbon atoms apart.
3. # The double bonds can be trans-bonds, but there is no rule on how apart they are.

4. ® The double bonds can only cis-bonds, but they can be three or six carbon atoms apart.

Question Number : 174 Question Id : 7532296043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b RAICH GRT AN SR T 3 o ot T T HYU b Gga d |

Options :

1. ¥ S0 918 (fg-3Mae) Had T cis-a7SH 8 Ybd g, Il il BIa URHTY] S-S BId & |
2. % A I18Y cis-T1GY U1 T1Y-918T &1 A &, Ol &I AT i1+ STal- URHTY] -3 8 g |
3. % 390 9789 ¢IY-91gY 81 Thd g, foog d fran oravT 8, sU dey # &1s fAgw 81 ]

4. % S 98T Had cis-T1SY 8 Yhd g, fg d i T1 T BIe-T URHTY] STHT-3HHT 81 Thd & |

Question Number : 175 Question Id : 7532296044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Match the following:

Region Function
A Frontal 1. Heanng
B. Occipital 2. Sight
C. Parietal 3. Smell
D. Temporal 4. Taste
Options :

1. ® Frontal (Hearing); Occipital (Taste); Parietal (Sight); Temporal (Smell)
2. ® Frontal (Sight); Occipital (Hearing); Parietal (Smell); Temporal (Taste)
3. ¥ Frontal (Smell); Occipital (Sight); Parietal (Taste); Temporal (Hearing)
4. ® Frontal (Taste); Occipital (Smell); Parietal (Hearing); Temporal (Sight)

Question Number : 175 Question Id : 7532296044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad &1 firem &%
P Frr
A T (Wed) 1. sEoT
B. TyOeTrEE
i I
(AT
C. 9 (RISHTe) 3. 7
D. && e 4. T

Options :

1. % Thed (4aul); TYbUTTie (Te); T (2fP); Tvrd (Y)
2. % thed (2fR); THB U (3auD); Ui (Tit); SRR (%Tq)
3. ¢ Thed (1Y), UyhuIfad (&Y); mfie (Xre), TrRe ()
4. % Thed (WTG); UYHUIISD (T1e); e (3amr); TR (2fD)

Question Number : 176 Question Id : 7532296045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cellular organelles are covered by a double membrane?
Options :

1. # Peroxisomes

2. # Golgi apparatus

3. % Chloroplasts

4. # Endoplasmic reticulum

Question Number : 176 Question Id : 7532296045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & @ o w1 Sike 3 s R I ehr giarg?
Options :

1. % QIR

2. % Tcoiiprd

3. ¢ FIRTTIRE

4. % 3fdgodl STferepT

Question Number : 177 Question Id : 7532296046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Intermediate fibres are made up of:
Options :

1. ¥ keratin

2. # tubulin

3. % actin

4. % myosin

Question Number : 177 Question Id : 7532296046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g dg Fafeied 7 J frad a9 gl 8
Options :

1. ¢ hIfed

2. % TfdfeH

3. % Waed

4. % OEIRH

Question Number : 178 Question Id : 7532296047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What happens to the chromosome number in the first meiotic division?
Options :

1. # It remains 2n.

2. # It becomes 4n from 2n.

3. % Ttis reduced from 2n to In.

4. % Tt becomes 0.5n from 2n.

Question Number : 178 Question Id : 7532296047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TyH G § TURE TReat frdt gt ot 82
Options :

1. % 2n 941 T8 B

2. % U 2n Y 4n B S G|

3. ¢ 3 2n Y YTHR 1n B S G|

4. % TE2n ¥ 0.5n B ST B

Question Number : 179 Question Id : 7532296048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When two genes are not assorted independently, it is due to:



Options :

1. % repulsion

2. ¥ linkage

3. % crossing over

4. % recombination

Question Number : 179 Question Id : 7532296048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WS & S e 0 Y e = 8 B, o g8 HRYT d
Options :

1. % famyur (Ruewm)

2. ¢ ey (fefdbe)

3. % S fafAHg (IR 3fiaR)

4. % g (R-Pifem=e)

Question Number : 180 Question Id : 7532296049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a function of RecBCD?
Options :

1. # Endonuclease

2. # Helicase

3. ¥ Primase

4. % Exonuclease

Question Number : 180 Question Id : 7532296049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffIfad § ¥ &I RecBCD &1 &1 7ol 82

Options :



1. % TSIyt
2. % gl
3. ¢ U3V
4. % UGS

Discipline5
Group Number : 10
Group Id : 753229314
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7532296050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a defining characteristic of triplex DNA?
Options :

1. # Watson-Crick base pairing

2. # G-tetraplex

3. % Hydrogen bonding

4. ¥ Hoogsteen pairing

Question Number : 181 Question Id : 7532296050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed & & & 3uT (fTuaed) DNA & uRuTid faxivar g2
Options :

1. % qreg-fobep YR T

2. % G-CoIia

3. % GRS §Y

4. ¢ G g

Question Number : 182 Question Id : 7532296051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Isomeric forms of monosaccharides that differ only in their configuration about the hemiacetal or hemiketal carbon atom are known as:
Options :

1. # enantiomers

2. ¥ anomers

3. % epimers

4, % stereomers

Question Number : 182 Question Id : 7532296051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AHRIPIZS & GHGT! U $I 1 gl ol &, STl Had gHIed a1 giidbed Hla- WRATY & Ja¢y & 3% fa=ur & fid gid g2
Options :

1. % TSR

2. ¥ TAY

3. % Ty

4. % Hfamd

Question Number : 183 Question Id : 7532296052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a compound binds to the enzyme-substrate complex and causes inhibition of activity, it is termed as:
Options :

1. ¥ uncompetitive inhibitor

2. % competitive inhibitor

3. % irreversible inhibitor

4. % non-competitive inhibitor

Question Number : 183 Question Id : 7532296052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O I3 A TOeH-BRiGH YHd (Fsdec HId) ¥ 98 Sd g 3R afafd & 3aRie o7 RO §-7dT 8, 3l 33 &1 6T il 82
Options :

1. ¢ 3mfaaadf sraRis
2. % gfaweff srariys

3. % NG ERIYD
4. % Ryfomdf sraRies

Question Number : 184 Question Id : 7532296053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following enzymes converts fructose 1, 6-bisphosphate to glyceraldehyde 3-phosphate during glycolysis?



Options :

1. # Hexokinase

2. ¥ Aldolase

3. % Phosphofructokinase

4. ¥ Phosphohexose isomerase

Question Number : 184 Question Id : 7532296053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ISR o QR MATRId H ¥ I 91 UolsH FHae 1, 6-[aphe &l fiRRIEeRe 3-hihe # uRafdd Hrdl 82
Options :

1. % HRIIBIZAS

2. ¥ Tl

3. % BRBIpIIBIETS

4. % HREhIgRIS TZAERY

Question Number : 185 Question Id : 7532296054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a native PAGE, separation of proteins occurs on the basis of:
Options :

1. # net negative charge

2. % net size

3. ¥ net charge, size and shape

4. ® net positive charge

Question Number : 185 Question Id : 7532296054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T gd UTafshamiIss Od dggdemuraaad (Afcd PAGE) H, Ui &1 Quam ol F YR WA
Options :




1. % f9d BUTHS 3Ma™

2. % ad THR

3. ¢ 9 1A%, SHR R S
4. % 999 YT MO

Question Number : 186 Question Id : 7532296055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The molecule A is required to be tightly bound to the enzyme E for proper activity of E. Which of the following terms best describes A?
Options :

1. % Apoenzyme

2. % Coenzyme

3. ¥ Prosthetic group

4. % Holoenzyme

Question Number : 186 Question Id : 7532296055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

E P 3fera Tfafafd & foIw 31u] A 1 GogH E T oY 31awass & | Fufafad # ¥ o I1 Weg A T JaY 33T JuiH 6l 82
Options :

1. % TUICTSH

2. % PIUSTZH

3. ¥ HEAH (URICH) T g

4. % QIRNTSITEH

Question Number : 187 Question Id : 7532296056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Bergey’s manual of systemic bacteriology, Escherichia belongs to which class of proteobacteria?
Options :

1. % Alphaproteobacteria



2. # Betaproteobacteria
3. % Gammaproteobacteria

4. ¥ Deltaproteobacteria

Question Number : 187 Question Id : 7532296056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui SitaTy] fae (Rieefiye Sedifaiaion) & o+if Agera & SR, TR iifeaaedifar & fg af & gefta 82
Options :

1. % SfepIfeaaacIar

2. % demifeadaiia

3. ¢ TSR

4, ® Iecfeaiaad AT

Question Number : 188 Question Id : 7532296057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 100 bacterial cells are allowed to grow for three generations, what will be the number of bacterial cells after three generations?
Options :

1. % 300

2. % 200

3. ¥ 800

4. % 600

Question Number : 188 Question Id : 7532296057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 100 STaTy] HIRHIST o1 <19 Yifedl ao Je g Sran 8, d i tifedl & a1g Sitar] SifrerTel o We o1 gri?
Options :

1. % 300

2. % 200




3. % 800
4. % 600

Question Number : 189 Question Id : 7532296058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first immunoglobulin which is expressed during B cell development?
Options :

1. % IgA

2. ¥ IgM

3. % IgDb

4, % IgE

Question Number : 189 Question Id : 7532296058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiyd o 9§ ®F Ugdl AT A § Sl B BRI & [ddh™ & SR oad bl Sl 82
Options :

1. # IgA

2. ¥ IgM

3. % IgD

4. % IgE

Question Number : 190 Question Id : 7532296059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true about sigma factor?

Options :

1. # It binds only with RNA polymerase.

2. # It binds only with —35 sequence.

3. % It binds with RNA polymerase and —10 sequence.

4. ¥ It binds with RNA polymerase, —10 sequence and —35 sequence.



Question Number : 190 Question Id : 7532296059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & @ &1 91 faded R $RS & IR T Tg 72
Options :

1. % g $Hdd RNA TS § SUar g

2. % U Had -35 AIHH I ST |

3. % TG RNA UITCTHNS 31 -10 3fIehH o 1Y ST & |

4. ¥ T RNA TICIERTI, -10 3T 3R -35 3hH & 1Y §edl g

Question Number : 191 Question Id : 7532296060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can function as a promoter for eukaryotic RNA polymerase I1?
Options :

1. ® Pribnow Box

2. ® Shine-Dalgarno sequence

3. ¥ TATA Box

4. ® _35 sequence

Question Number : 191 Question Id : 7532296060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad 7 3 o1 gbaa! (GHRUICH) RNA TTHI 11 & foT e Uade (JHICR) & U H S B3 Febdl 82
Options :

1. % fOreh ST

2. % M-I SHIHhH

3. ¥ TATA Siad

4. % 35 3hH




Question Number : 192 Question Id : 7532296061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following may generate biologically different proteins from the same gene following translation?
Options :

1. ¥ Alternative splicing

2. % Capping

3. # Polyadenylation

4. % mRNA decay

Question Number : 192 Question Id : 7532296061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad o 9 HH SrgdTe & 91 Us g o ¥ Sifde =0 3 fid Ui Sdd & Il o7
Options :

1. ¢ dhfcdd qHe YA

2. % 3TTHG (BIUT)

3. % OlclIUSAIZaRA

4. % mRNA &g

Question Number : 193 Question Id : 7532296062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To which of the following is the methyl group added during DNA methylation in eukaryotes?
Options :

1. # Adenine

2. % Guanine

3. # Thymine

4. ¥ Cytosine

Question Number : 193 Question Id : 7532296062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ghisd & DNA TUEaRH & R fHusa 998 &1 Fafafed & 3 foud Ser S g?
Options :

1. % UsfH

2. % WgHEH

3. % Ygfee

4. HIZCIRHA

Question Number : 194 Question Id : 7532296063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Plant cells from which the cellulose wall has been removed are termed as:
Options :

1. # explant

2. # callus

3. % protoplast

4. % meristem

Question Number : 194 Question Id : 7532296063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 UTGY BIRIBIST Bl T H5d &, o Fgelel $I §IaR Bl gel fadn 11 g2
Options :

1. % Hdide® (TRIEIC)

2. % Had

3. ¢ SIdgd (WCITRe)

4. % fqUSdsd ARKH)

Question Number : 195 Question Id : 7532296064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In callus culture, increasing the level of which of the following hormones causes shoot formation?
Options :

1. # Auxin

2. # Gibberellin

3. # Ethylene

4. ¥ Cytokinin

Question Number : 195 Question Id : 7532296064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Py Yag (Feer) H, FRgfoiad & 9 forg gmHiF &1 W 5e1 9 WRig FAafor giars?
Options :

1. % 3T

2. % foeRfeH

3. % UieH

4. ¥ FgIBIZHT

Question Number : 196 Question Id : 7532296065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following techniques can be used to diagnose Down syndrome?
Options :

1. # DNA sequencing

2. ¥ Fluorescence in situ hybridisation

3. % PCR

4. ¥ Western blotting

Question Number : 196 Question Id : 7532296065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

13- Rig & e & fort fFafafad @ I fow deiie &1 Iuai fear o 9T 82

Options :



1. % DNA 3IHHUI
2.« WRIH Toheor § ufadifa
3. % PCR

4. % Ty e (e )

Question Number : 197 Question Id : 7532296066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following does NOT fall under the scope of animal biotechnology?
Options :

1. % Xenotransplantation

2. # Improved breeding

3. ¥ Animal feeding

4. # Transgenic animal

Question Number : 197 Question Id : 7532296066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 19 ug oid Uenfie & siavid 8T $irdl 82
Options :

1. ® SFICNWICRH

2. % §FR Yo

3. ¥ U] 3IeR

4. % ORI (CIoifTep) Sig

Question Number : 198 Question Id : 7532296067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cell line cultured in one flask has been sub-cultured into four different flasks. What is the splitting ratio?
Options :

1.%1:2



2.%4:1
3.% 2:1
4.4 1:4

Question Number : 198 Question Id : 7532296067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR | Taefd T PIfRAehT Uidd 1 IR S1aT- 31 Faes o Ju-Hafefd forar mar g | fauTes Srurd aan g2
Options :

1.%1:2

2.% 4:1

3.%2:1

4. ¥ 1:4

Question Number : 199 Question Id : 7532296068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a source of biofuel?
Options :

1. ®* Corn

2. ¥ Fungi

3. % Sugarcane

4. % Algae

Question Number : 199 Question Id : 7532296068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafifed # 9 $1F 99 S &1 Jid 781 82
Options :

1. # Hdd[

2. % Dhddh



3. % T
4. % Q1A

Question Number : 200 Question Id : 7532296069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following microorganisms may be used for bioremediation of benzene?
Options :

1. # Diatoms

2. % Bacillus subtilis

3. ¥ Pseudomonas putida

4. % Micrococcus luteus

Question Number : 200 Question Id : 7532296069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed & § fora geasiia &1 SUaiT doi- & oid SUAR & for faT S Tadi &7
Options :

1. % SIIcH

2. % Sffey gafefer™

3. ¢ YEHMN gfesT

4. % OEDHIHIDHY g




